
521

Model K321S    Spec. 60390
Fits Jacobsen Greens King II

Genuine Kohler 
Shortblock

includes Gasket Kit
RK7752255

1,346.50

K SERIES SINGLE CYLINDER 
ENGINE SERVICE MANUAL

RKTP2379
15.65

Genuine Kohler 
Miniblock

includes Gasket Kit
RK4778298

 895.30

GASKET SET WITH SEALS
RK4775508

49.55

Complete Genuine 
Kohler  Engine

R&R Part # RKPX60390
Fits Jacobsen Greens King II

1,794.45



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

522

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Air Intake - Group 1  
 1 RKX1672 X-167-2 Kohler Screw, H.C. 10-32 x 5/16 3 0.47
 2 RKX2767 X-276-7 Kohler Nut, Wing 1 0.39
 3 RK235101 235101 Kohler Base, Air Cleaner 1 23.05
 4 RK235102 235102 Kohler Cover, Air Cleaner 1 19.40
 5 RK235116 235116 Kohler Element 1 8.95
 6 RK275341 275341 Kohler Gasket, Air Horn 1 2.05
 7 RK237421 237421 Kohler Precleaner Element 1 3.85
 8 RKA235100 A-235100 Kohler Air Cleaner Assy. 1 50.55
   RK2511307 25 113 07 Kohler Decal, Air Cleaner 1 1.00
    (Not Illustrated)  
      
  Baffles & Shroud - Group 2
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 x 3/4 5 0.99
 3 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 2 0.81
	 4	 RK235652	 235652	 Kohler	Baffle,	Side	Air	 1	 6.60
	 5	 RK236676	 236676	 Kohler	Baffle,	Cylinder	 1	 8.05
 6 RK236680 236680 Kohler Housing, Blower 1 90.80
	 7	 RK237677	 237677	 Kohler	Baffle,	Head	 1	 15.30
 8 RKX1435 X-143-5 Kohler Screw, H.C. w/star washer 1 0.99
    sems 1/4-20 x 5/8  
      
  Breather & Vent - Group 3
 1 RKX201 X-20-1 Kohler Washer 1 0.99
 2 RK2510020 X-81-1 Kohler Nut, Hex. 1/4-20 1 1.00
 3 RK231032 231032 Kohler Seal, Breather 1 2.70
 4 RK235047 235047 Kohler Reed, Breather 1 5.90
 5 RK235048 235048 Kohler Gasket, Valve Cover 1 2.30
	 6	 RK235117	 235117	 Kohler	Baffle,	Breather	 1	 2.40
 7 RK235118 235118 Kohler Filter, Breather 1 5.90
 8 RK235551 235551 Kohler Stud, Valve Cover 1 3.65
 9 RK235631 235631 Kohler Plate, Breather 1 12.70
 10 RK275143 275143 Use RKA235418  
 10 RKA235418 A-235418-S Kohler Cover, Valve, Incl. #6 & 7 1 10.85
 11 RK275144 275144 Kohler Gasket 1 2.60
      
      
      
      
      
      
      
      
      
  Camshaft & Valves - Group 4 
 1 RK230020 230020 Use RK5241301  
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK235168 235168 Kohler Spring, Valve 2 5.90
 4 RK235193 235193 Use RK4738009  
 4 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 5 RKD235327 D-235327 Kohler Tappet 2 19.30
 6 RK235582 235582 Kohler Valve, Intake 1 52.45
 7 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 8 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 9 RK275066 275066 Kohler Spacer, Camshaft .005  A/R 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010  A/R 2.70
 10 RK4701009 47 010 09 Kohler Camshaft  Assy. 1 94.25
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
      

11

10

9
4

7

6

8

2

3

1

5

1

3

2

3

6
7

8

10

11

1
2

9

5

4

2

3

4
5

7

8

1 6

6

2

3

1

7

4 5

8

Model K321S    Spec. 60390
Fits Jacobsen Greens King II

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

523

  Carburetor - Group 5    
 1 RKX3911 X-391-1 Use RK2515502  
 1 RK2515502 25 155 02 Kohler Connector 1 0.47
 2 RK200380 200380 Kohler Spring, Idle Fuel 1 2.70
 3 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 4 RKA236919 A-236919 Kohler Bracket Assy., Choke  1 7.30
 5 RK235603 235603 Kohler Clip, Choke Cable 1 2.05
  For Engines Built Before Serial Number   
  1735210504 Use The Following Parts:   
 6 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 7 RK4705315 47 053 15 Use RK4785330  
 7 RK4785330 47 853 30 Kohler Carburetor Assy. 1 195.65
 8 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 9 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 10 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 11 RK235447 235447 Use RK4710006  
 11 RK4710006 47 100 06 Kohler Nut, Bowl Retainer 1 3.00
 12 RK235448 235448 Kohler Bowl 1 7.90
 13 RK237130 45 208 03 Kohler Ball, Joint 1 9.05
 14 RK200376 200376 Kohler Pin 1 2.05
 15 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 16 RK200408 200408 Use RK2575703  
 16 RK2575703 25 757 03 Kohler Kit, Float Repair, Incl. #19 1 9.25
 17 RK4710301 47 103 01 Kohler Needle, Main Fuel Adjusting 1 10.85
 18 RK200383 200383 Kohler Spring, Idle Fuel Adjusting 1 2.10
 19 RK200439 200439 Use RK2504102  
 19 RK2504102 25 041 02 Kohler Gasket, Anti-splash 1 2.70
 20 RK235277 235277 Kohler Rod, Ball Joint 1 7.90
 21 RK231555 231555 Use RK2575701  
 21 RK2575701 25 757 01 Kohler Kit, Repair 1 11.50
 22 RK275231 275231 Kohler Needle, Idle Fuel Adj. 1 6.25
 23 RKX703 X-70-3 Kohler Nut, Hex 1 0.83

  For Engines Built After Serial Number   
  1735210494 Use The Following Parts:   
 25 RK4785330 47 853 30 Kohler Kit, Carburetor w/Linkage 1 195.65
 26 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 27 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 28 RK4707911 47 079 11 Kohler Linkage, Carburetor 1 1.25
 29 RK2515807 25 158 07 Use RK2515811   
 29 RK2515811 25 158 11 Kohler Bushing, Yellow, Linkage Retaining 1 1.00
 30 RK275341 275341 Kohler Gasket, Air Cleaner 4 2.05
 31 RK2508627 25 086 27 Kohler Screw, Throttle & Choke Plate 1 1.45
 32 RK4714609 47 146 09 Kohler Plate, Choke 1 2.30
 33 RK2519401 25 194 01 Kohler Ball, Choke Friction 1 4.40
 34 RK2508903 25 089 03 Kohler Spring, Choke Friction 1 4.40
 35 RK4714436 47 144 25 Kohler Shaft, Throttle w/Lever & Seal 1 12.55
 36 RK4714610 47 146 10 Kohler Plate, Throttle 1 5.90
 37 RK2508902 25 089 02 Kohler Spring, Idle Fuel 1 1.85
 38 RK2536801 25 368 01 Kohler Needle, Idle Fuel Adj. 1 2.35
 39 RK2508904 25 089 04 Kohler Spring, Idle Speed 1 3.85
 40 RK2508626 25 086 26 Kohler Screw, Idle Speed Adj. 1 1.80
 41 RK4709038 47 090 38 Kohler Lever, Choke 1 17.65
 42 RK5233708 52 337 08 Kohler Jet, Main 1 4.15
 43 RK2504104 25 041 04 Kohler Gasket, Bowl 1 3.15
 44 RK2575709 25 757 09 Kohler Kit, Float 1 11.30
 45 RK2510401 25 104 01 Kohler Bowl, Fuel 1 9.15
 46 RK2504103 25 041 03 Kohler Gasket, Bowl Retainer Screw 1 2.40
 47 RK2510005 25 100 05 Kohler Screw, Bowl Retainer 1 1.60
   RK2575711 25 757 11 Kohler Kit, Carburetor Repair 1 25.15
  RK4775538 47 755 38 Kohler Kit, High AltitudeJet 1 9.90
      

6

12

14

11

8

15

17

16

5

4

13

2

3

9

1

7

10

19

18

20

22

23

21 24

25

26
27

28
29

29

31

32
33

34

35
36

37
38

39 40

41
42

43
44

45

46
47

30

Model K321S    Spec. 60390
Fits Jacobsen Greens King II



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

524

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Crankcase - Group 7    
 1 RKX7531 X-75-31 Use RK4713901  
 1 RK4713901 47 139 01 Kohler Plug, Pipe 1 2.40
 2 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 3 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 4 RKX23011 X-230-11 Kohler Plug 1 0.47
 5 RKX27130 X-271-30 Use RK4703206  
 5 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 6 RKX3799 X-379-9 Use RK4703207  
 6 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 7 RK235025 235025 Kohler Gasket, Cover 1 3.50
 8 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 9 RK235070 235070 Kohler Gasket A/R 2.40
 10 RK235125 235-125-S Kohler Shaft, Governor 1 28.20
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK235757 235757 Kohler Gasket 2 4.10
 13 RK236559 236559 Kohler Shaft 1 11.60
 14 RK4515602 45 156 02 Kohler Plate, Bearing 1 126.40
 15 RKB237836 B-237836 Use RK4778282  
 15 RK4778282 47 782 82 Use RK4778298  
 15 RK4778298 47 782 98 Kohler Block, Cylinder Miniblock 1 895.30
 16 RK230265 230265 Kohler Insert, intake 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
      
      
  Crankshaft - Group 8    
 1 RKX26934 X-269-34 Kohler Retainer 2 0.73
 2 RK4701402 47 014 02 Use RK4514219  
 2 RK4514219 45 142 19 Kohler Crankshaft 1 321.00
 3 RK4704201 47 042 01 Use RK4504303  
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
 6 RK10355 10355 Kohler Timing Tool,  1 8.75
       
      
      
      
  Cylinder Head - Group 9 
 1 RK237522 237522 Kohler Stud A/R 5.80
 2 RK237658 237658 Use RK4704115  
 2 RK4704115 47 041 15 Kohler Gasket, Cylinder Head 1 9.35
 3 RK237670 237670 Kohler Head, Cylinder 1 113.25
 4 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 A/R 2.70
 5 RK270721 270721 Kohler Screw, H.C. A/R 3.65
 6 RK270889 270889 Kohler Washer 9 2.70
 7 RK4744501 47 445 01 Use RK4744502  
 7 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
 8 RK2510024 X-83-2 Kohler Nut, Hex 3/8-16 1 1.00
      
      
      
  Dipstick - Group 10    
 1 RK237012 237012 Use RK4712308  
 1 RK4712308 47 123 08 Kohler Tube, Oil Fill 1 21.05
 2 RK237013 237013 Kohler Dipstick 1 13.30

4

6

7

8

10

15
17

18

11

16

9

11

13

14

5

3

1

2

12

2

1

45

3

6

17

6

2

3

4

8
6
5

6

6

1

2

Model K321S    Spec. 60390
Fits Jacobsen Greens King II

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

525

  Electric Start - Group 11    
 1 RKX221 X-22-1 Kohler Washer 3/8 2 0.99
 2 RK234948 234948 Kohler Screw, H.C. 3/8-16 x 1 11/32 2 3.00
 3 RKA237534 A-237534 Use RK4509809  
 3 RK4509809 45 098 09 Kohler Starter Assy 1 139.85
 4 RK4575515 45 755 15 Kohler Kit, Drive 1 79.25
 5 RK4575515 45 755 15 Kohler Kit, Drive Parts 1 79.25
 6 RK4508105 45 081 05 Kohler Cap, Drive End 1 40.30
 7 RK4717001 47 170 01 Kohler Armature 1 158.25
 8 RK4822704 48 227 04 Discontinued 1 
 9 RK237649 237649 Kohler Thru Bolt with Washer 2 9.50
 10 RK4875515 48 755 15 Use RK8275528  
 10 RK8275528 82 755 28 Kohler Kit, Brush 1 34.80
      
  Flywheel - Group 13    
 1 RK4702528 47 025 28 Kohler Flywheel 1 282.05
      
  Before Serial Number 1525200013 Use:   
 2 RKX25104 X-25-104 Kohler Washer 5/8 1 0.91
 3 RKX11914 X-119-14 Use RK2510002   
 3 RK2510002 25 100 02 Kohler Nut, Lock 5/8-18 1 1.25
 4 RKX28617 X-286-17 Kohler Key 1 0.73
      
  After Serial Number 1525200003 Use:   
 5 RKX463 X-46-3 Kohler Key, Woodruff 1 0.93
 6 RK5246815 52 468 15 Kohler Washer, plain 1 3/8 O.D. 1 2.05
 7 RK2508624 25 086 24 Kohler Screw, hex. mach. 3/8-24x1 1/8 1 1.25
      
  Fuel Pump - Group 14    
 1 RKX1742 X-174-2 Kohler Screw, F.H.M. 1/4-20 x 3/4 2 0.47
 2 RK4704104 47 041 04 Use RK2504109  
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK240282 240282 Kohler Cover, Pump Pad 1 3.35
      
  Governor - Group 17    
 1 RKX7991 X-799-1 Kohler Palnut, 1/4-20 1 0.96
 2 RKX40080 X-400-80 Kohler Spacer 1 0.83
 3 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 4 RKX7761 X-776-1 Kohler Screw, sems 1/4-20 x 1 1/4 1 1.30
 5 RK235476 235476 Kohler Bushing 1 4.90
 6 RK236261 236261 Kohler Spring, Governor 1 6.25
 7 RK237022 237022 Kohler Washer, Thrust 1 2.40
 8 RKA237031 237031 Use RKA253743S  
 8 RKA235743 A-235743-S Kohler Kit, Governor Gear  1 22.10
 9 RK237455 237455 Use RKA235256  
 9 RKA235256 A-235256-S Kohler Shaft, Governor 1 9.15
 10 RKX2563 X-25-63 Kohler Washer, Plain 17/64 1 0.93
 11 RKX1329 X-132-9 Kohler Screw, sems 1/4-20 x 1 1/4 1 0.99
 12 RK236413 236413 Kohler Bracket, Speed Control 1 5.10
 13 RK236415 236415 Kohler Spacer 1 6.20
 14 RK237573 237573 Kohler Spring 1 7.55
 15 RK237574 237574 Kohler Screw, Adjusting 1 2.70
 16 RK237833 237833 Kohler Lever, Adjusting Screw 1 10.65
 17 RK275690 275690 Kohler Washer, Wave 1 2.10
 18 RKA237653 A-237653 Kohler Lever Assy., Governor 1 22.30
 19 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
   Before Serial Number 1735210504 Use:   
 21 RK235278 235278 Kohler Retainer, Rod 1 2.05
  After Serial Number 1735210494 Use:   
 22 RK4715806 47 158 06 Use RK2515811   
 22 RK2515811 25 158 07 Kohler Bushing, Yellow, Linkage Retaining 2 1.00
 23 RK4707911 47 079 11 Kohler Linkage, Governor 1 1.25

3

4
5

6 7

89

10

12

7
6

5
3

2

1

4

2

1

3

2

5

21

3

9

12

13
14

15
16

8

7

6

18

4

22

1011
17

1

19

23
22

Model K321S    Spec. 60390
Fits Jacobsen Greens King II



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

526

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

1
2

3

4

5

6

7

8
9

10

11
12

13

14

15

17

18

19

22

2324

20 21

1

3

4

2

4

3

2

1

16

OLD STYLE
PISTON

7

3

6

5

NEW STYLE
PISTON

Model K321S    Spec. 60390
Fits Jacobsen Greens King II

  Ignition - Group 18   
 1 RKX2573 X-25-73 Kohler Washer 1/4 2 0.99
 2 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 3 RKX1311 X-131-1 Kohler Screw, F.H.M. 10-24 x 3/8 4 0.47
 4 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 1 0.99
 5 RKX4897 X-489-7 Use RK4741104  
 5 RK4741104 47 411 04 Kohler Rod, Breaker 1 8.20
 6 RKX7281 X-728-1 Kohler Clip 1 0.93
 7 RKX7781 X-778-1 Use RKX6751  
 7 RKX6751 X-675-1 Kohler Screw, R.H. 1 0.94
 8 RK220174 220174 Use RK5204111  
 8 RK5204111 52 041 11 Kohler Gasket, Breaker 1 1.00
 9 RK232535 232535 Kohler Cover, Breaker 1 6.40
 10 RK234323 234323 Kohler Plate, Coil 1 5.00
 11 RK235040S 235040-S Use RK235041S  
 11 RK235041 235041-S Kohler Plug, Spark 1 4.55
 12 RK238057 238057 Kohler Kit, High Tension Lead 1 20.70
 13 RK275303 275303 Kohler Clip 1 2.05
 14 RK237878 237878 Kohler Stator 1 76.10
 15 RK4715001 47 150 01 Use RK4715003  
 15 RK4715003 47 150 03 Kohler Point Set 1 10.10
 16 RK230722 230722 Kohler Condenser 1 5.00
 17 RK231281 231281 Kohler Coil 1 29.95
 18 RK4140306 41 403 06 Kohler Regulator 1 93.15
 19 RKA237418 237418 Kohler Lead, Black, Breaker To Coil 1 5.35
 20 RK4775703 47 757 03 Kohler Tune Up Kit  1 22.40
 21 RK4775705 47 757 05 Kohler Ignition Kit 1 17.15
 22 RK220297 220297 Grommet 1 2.05
 23 RKX2565 X-25-65 Washer, Plain #8 2 0.99
 24 RKX1415 X-14-15 Screw, R.H.M. 8-32 x 1/4 2 0.99
      
  Oil Pan - Group 21   
 1 RKX7510 X-75-10 Kohler Plug, Pipe 3/8 1 2.10
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
  Piston & Rod - Group 22   
  OLD STYLE PISTON DESIGN  
 1 RK4706709 47 067 09 Kohler Rod, Connecting - Standard 1 45.10
 1 RK4706710 47 067 10 Kohler Rod, Connecting - .010 1 45.10
 2 RK4787411 47 874 11 Kohler Piston Assy, Standard 1 131.90
 2 RK4787412 47 874 12 Kohler Piston Assy, .003 1 111.55
 2 RK4787413 47 874 13 Kohler Piston Assy, .010 1 131.90
 2 RK4787414 47 874 14 Kohler Piston Assy, .020 1 131.90
 2 RK4787415 47 874 15 Kohler Piston Assy, .030 1 131.90
 3 RK4810805 48 108 05 Kohler Ring Set, Std. & .003 1 53.90
 3 RK4810806 48 108 06 Kohler Ring Set, .010 1 49.40
 3 RK4810807 48 108 07 Kohler Ring Set, .020 1 63.50
 3 RK4810808 48 108 08 Kohler Ring Set, .030 1 63.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 1 2.10
  NEW STYLE MAHLE PISTON DESIGN  
 5 RK4506724 45 067 24 Kohler Rod, Connecting - Standard  59.85
 5 RK4506725 45 067 25 Kohler Rod, Connecting - .010  83.55
 6 RK4787421 47 874 21 Kohler Piston Assy, Standard  166.65
 6 RK4787422 47 874 22 Kohler Piston Assy, .003  124.95
 6 RK4787423 47 874 23 Kohler Piston Assy, .010  160.65
 6 RK4787424 47 874 24 Kohler Piston Assy, .020  160.65
 6 RK4787425 47 874 25 Kohler Piston Assy, .030  124.95
 7 RK4710805 47 108 05 Kohler Ring Set, Std. & .003  59.30
 7 RK4710806 47 108 06 Kohler Ring Set, .010  56.55
 7 RK4710807 47 108 07 Kohler Ring Set, .020  56.55
 7 RK4710808 47 108 08 Kohler Ring Set, .030  56.55
 4 RK4701801 47 018 01 Kohler Retainer, Pin  2.10
  Order parts according to design used on engine

http://www.rrproducts.com


527

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV

Genuine Kohler 
 Shortblock

includes Gasket Kit
R&R Part # RK711528SB

1,211.15

GASKET SET WITH SEALS
RK4575512   

 37.30

MAGNUM SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2203A
15.65

Complete Genuine 
Kohler Magnum Engine

R&R Part # RKPX711528

1,758.00

Genuine Kohler 
 Miniblock

includes Gasket Kit
R&R Part # RK4578228

885.75



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

528

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Air Intake - Group 1   
 1 RKX1672 X-167-2 Kohler Screw, H.C. 10-32 x 5/16 3 0.47
 2 RKX2767 X-276-7 Kohler Nut, Wing 1 0.39
 3 RK4509401 45 094 01 Kohler Base, Air Cleaner 1 23.75
 4 RK4508201 45 082 01 Kohler Cover, Air Cleaner 1 28.50
 5 RK4508302 45 083 02 Kohler Element 1 9.90
 6 RK4508301 45 083 01 Kohler Precleaner, Element 1 5.15
 7 RK275341 275341 Kohler Gasket, Air Horn 1 2.05
  RK2511307 25 113 07 Kohler Decal, Air Cleaner 1 1.00
       
   
      
  Baffles & Shroud - Group 2
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RK5208611 52 086 11 Kohler Screw, Hex. Wash. Hd. 6 1.35
    1/4-20x 5/8  
 3 RK4708608 47 086 08 Kohler Screw, Pozidriv T.H. 1 1.80
    1/4-20 x 5/8  
	 4	 RK4706311	 47	063	11	 Kohler	Baffle,	Side	Air	 1	 31.40
	 5	 RK4706310	 47	063	10	 Kohler	Baffle,	Cylinder	 1	 9.50
 6 RK4702742 47 027 42 Kohler Housing, Blower 1 76.95
	 7	 RK4506308	 45	063	08	 Kohler	Baffle,	Head	 1	 14.25
	 8	 RK4706307	 47	063	07	 Kohler	Baffle,	Inner	 1	 12.70
      
      
      
      
      
  Breather & Vent - Group 3   
 1 RKX7991 X-799-1 Kohler Palnut 1 0.96
 2 RK231032 231032 Kohler Seal, Breather 1 2.70
 3 RK235047 235047 Kohler Reed, Breather 1 5.90
 4 RK235048 235048 Kohler Gasket, Valve Cover 1 2.30
	 5	 RK235117	 235117	 Kohler	Baffle,	Breather	 1	 2.40
 6 RK235118 235118 Kohler Filter, Breather 1 5.90
 7 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 8 RK235631 235631 Kohler Plate, Breather 1 12.70
 9 RKA235418 A-235418-S Kohler Cover, Valve 1 10.85
 10 RK275144 275144 Kohler Gasket, Valve Cover 1 2.60
      
      
      
      
      
      
  Camshaft & Valves - Group 4  
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 4 RK235168 235168 Kohler Spring, Valve 2 5.90
 5 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 6 RKD235327 D-235327 Kohler Tappet 2 19.30
 7 RK235582 235582 Kohler Valve, Intake 1 52.45
 8 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 9 RK275066 275066 Kohler Spacer, Camshaft .005 (A.R.) 1 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010 (A.R.) 1 2.70
 10 RK4701011 47 010 11 Kohler Camshaft  Assy. 1 78.90
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
 12 RKX7023 X-702-3 Kohler Plug, Cup 1 0.72
      

1

2

3

5

6

7

4

8

2

4

7 1
3

5

2

6

11 9

5
8

7

2

2

4

4

6

3

12

1

1

10
2

1
7

3

6

5

9

4
8

10

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

529

  Carburetor - Group 5   
 1 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 2 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 3 RK2515502 25 155 02 Kohler Connector, 900 Hose 1 0.47
  FOR ENGINES BUILT BEFORE  SERIAL #1802100013    
   USE THE FOLLOWING PARTS:
 4 RK4505370 45 053 70 Use RK4585312  
 4 RK4585312 45 853 12 Kohler Carburetor Assy. 1 191.45
 5 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 6 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 7 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 8 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 9 RK235448 235448 Kohler Bowl 1 7.90
 10 RK200376 200376 Kohler Pin 1 2.05
 11 RK2575703 25 757 03 Kohler Kit, Float 1 9.25
	 12	 RK2504102	 25	041	02	 Kohler	Gasket,	Bowl	Baffle	 1	 2.70
 13 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 14 RK275231 275231 Kohler Needle, Idle Fuel Adjusting 1 6.25
 15 RK200380 200380 Kohler Spring, Idle Fuel 1 2.70
 16 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 17 RK4704105 47 041 05 Kohler Gasket, Air Cleaner 1 2.10
 18 RK4510301 45 103 01 Kohler Needle, Main Fuel Adj. 1 12.00
 19 RK2575702 25 757 02 Kohler Kit, Carburetor Repair 1 11.50
       
 FOR ENGINES BUILT AFTER SERIAL #1802100003   
  USE THE FOLLOWING PARTS:
 21 RK4585305 45 853 05 Use RK4585315  
 21 RK4585315 45 853 15 Kohler Kit, Carburetor w/Linkage 1 192.10
 22 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 23 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 24 RK4707905 47 079 05 Use RK4707910  
 24 RK4707910 47 079 10 Kohler Linkage, Carburetor 1 3.70
 25 RK2515811 25 158 09 Kohler Bushing, Yellow, Linkage Retaining 1 1.00
 26 RK4715807 47 158 07 Kohler Bushing, Natural, Linkage Retaining 1 1.00
 27 RK2508627 25 086 27 Kohler Screw, Throttle & Choke Plate 4 1.45
 28 RK4514607 45 146 07 Kohler Plate, Choke 1 2.05
 29 RK2509401 25 094 01 Kohler Ball, Choke Friction 1 
 30 RK2508903 25 089 03 Kohler Spring, Choke Friction 1 4.40
 31 RK4714436 47 144 25 Kohler Shaft, Throttle w/Lever & Seal 1 12.55
 32 RK4714610 47 146 10 Kohler Plate, Throttle 1 5.90
 33 RK2508902 25 089 02 Kohler Spring, Idle Fuel 1 1.85
 34 RK2536801 25 368 01 Kohler Needle, Idle Fuel Adj. 1 2.35
 35 RK2508904 25 089 04 Kohler Spring, Idle Speed 1 3.85
 36 RK2508626 25 086 26 Kohler Screw, Idle Speed Adj. 1 1.80
 37 RK4709038 47 090 38 Kohler Shaft, Choke w/Lever 1 17.65
 38 RK4533701 45 337 01 Kohler Jet, Main 1 5.05
 39 RK2504104 25 041 04 Kohler Gasket, Bowl 1 3.15
 40 RK2575709 25 757 09 Kohler Kit, Float 1 11.30
 41 RK2510401 25 104 01 Kohler Bowl, Fuel 1 9.15
 42 RK2504103 25 041 03 Kohler Gasket, Bowl Retainer Screw 1 2.40
 43 RK2510005 25 100 05 Kohler Screw, Bowl Retainer 1 1.60
 44 RK4504107 45 041 07 Kohler Gasket, Air Cleaner 1 2.05
 45 RK2575708 25 757 08 Use RK2575711  
 45 RK2575711 25 757 11 Kohler Kit Carburetor Repair 1 25.15
 46 RK4575514 45 755 14 Kohler Kit, High Altitude Jet 1 11.60
      

4

5

1 10

7

2

9

8

6

3

16

11
12

131514
18

17

33

3222

35

29 3430

25

26

27

28

23

24

21

31

44
37

43
42

41

4039
27

36
38

19

45

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

530

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Crankcase - Group 7   
 1 RK4713901 47 139 01 Kohler Plug, Hex. Ctsk. 3/4 N.P.T.F 1 2.40
 2 RK4704109 47 041 09 Kohler Gasket, Bearing Plate 1 1.55
 3 RKX23011 X-230-11 Kohler Plug, Expansion 1 0.47
 4 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 5 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 6 RK235025 235025 Kohler Gasket, Camshaft Cover 1 3.50
 7 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 8 RK4742205 47 422 05 Kohler Gasket, Shim  A/R 1.45
 9 RK235125 235125-S Kohler Shaft, Governor Gear 1 28.20
 10 RK236559 236559 Kohler Shaft, Balance Gear Stub 2 11.60
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK4714607 47 146 07 Use RK4714611  
 12 RK4714611 47 146 11 Kohler Plate, Bearing 1 106.05
 13 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 14 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 15 RK4578227 45 782 27 Use RK4578228  
 15 RK4578228 45 782 28 Kohler Block, Cylinder Miniblock 1 885.75
 16 RK230265 230265 Kohler Insert, Valve 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
       
  Crankshaft - Group 8  
 1 RK4714240 47 142 40 Use RK4514219  
 1 RK4514219 45 142 19 Kohler Kit, Crankshaft 1 321.00
 2 RKX26934 X-269-34 Kohler Retainer 2 0.73
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
      
  Cylinder Head - Group 9   
 1 RK4504116 45 041 16 Use RK4504117  
 1 RK4504117 45 041 17 Kohler Gasket, Cylinder Head 1 9.60
 2 RK4501509 45 015 09 Kohler Head, Cylinder 1 118.15
 3 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 9 2.70
 4 RK4708617 47 086 17 Kohler Screw, Hex. Socket Hd. 1 12.60
 5 RK270889 270889 Kohler Washer 10 2.70
 6 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
      
      
  Dipstick - Group 10  
 1 RK4712308 47 123 08 Kohler Tube, Oil Fill 1 21.05
 2 RK237013 237013 Kohler Dipstick 1 13.30
      
      
  Electric Start - Group 11 
 1 RK4712629 47 126 29 Kohler Bracket, Solenoid 1 13.55
 2 RKX1592 X-159-2 Kohler Screw, H.C. Sems 3/8-16x1 2 1.30
 3 RK4512617 45 126 17 Kohler Brace, Tail 1 2.30
 4 RKX6762 X-67-62 Kohler Screw, Hex. Wash. Hd. 1 0.83
    1/4-20x3/4  
 5 RKX6783 X-67-83 Kohler Screw, Hex. Wash. Hd. 1 0.23
    1/4-20x3/8  
 6 RK2545003 25 450 03 Kohler Tag, Caution 1 0.42
 7 RK4109806 41 098 04 Kohler Starter Assy 1 148.50
 8 RK4108619 41 086 19 Kohler Bolt, Thru 1/4-20x5 1/16 2 9.75
 9 RK4775507 47 755 07 Kohler Kit, Drive 1 
 11 RK4108105 41 227 03 Kohler Cap, Drive End 1 40.30
 13 RK5222703 41 227 04 Discontinued 1 
 14 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
      
      

12

11

2
8

10

4

14

13
7

6

9

3
18

115

16
17

15

1

5

2

4

1

3

1

2

3

5

6

4

1

2

14
1

8

13

11

10

9

2

5 3
6
4

7

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

531

  Flywheel - Group 13   
 1 RKX463 X-46-3 Kohler Key, Woodruff 3/16x1 1 0.93
 2 RK4702553 47 025 53 Kohler Flywheel 1 277.95
 3 RK5211402 52 114 02 Use RK5246815  
 3 RK5246815 52 468 15 Kohler Washer, Plain 13/32 I.D., 1 2.05
    1 3/8 O.D.  
 4 RK2508624 25 086 24 Kohler Screw, Hex. Mach. 1 1.25
    3/8-24x1 1/8  
 5 RK2515701 25 157 01 Kohler Fan 1 32.40
 6 RK2511204 25 112 04 Kohler Spacer 17/64 I.D., 3/8 O.D. 4 1.25
    15/64 lg.  
 7 RK2508621 25 086 21 Kohler Screw, Hex. Wash. Hd. 4 1.20
    1/4-20x5/8  
 8 RK2516202 25 162 02 Kohler Screen, Grass 1 7.50
      
      
  Fuel Pump - Group 14   
 1 RKX1742 X-174-2 Kohler Screw, H.C. 1/4-20 x 3/4 2 0.47
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK240282 240282 Kohler Cover, Pump Pad 1 3.35
      
      
  Governor - Group 17   
 1 RK237022 237022 Kohler Washer, Thrust 1 2.40
 2 RKA235743 A-235743-S Kohler Kit, Governor Gear 1 22.10
 3 RKX40080 X-400-80 Kohler Spacer 1 0.83
 4 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 5 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
 6 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
 7 RK4709020 47 090 20 Kohler Lever, Governor 1 4.65
 8 RK4715804 47 158 04 Use RK4715807  
 8 RK4715807 47 158 07 Kohler Bushing, White Linkage 1 1.00
    Retaining  
 9 RKX7761 X-776-1 Kohler Screw, H.C. Sems 1 1.30
    1/4-20x1 1/4  
 10 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 11 RK4707905 47 079 05 Use RK4707910  
 11 RK4707910 47 079 10 Kohler Linkage, Governor 1 3.70
 12 RK4709101 47 091 01 Kohler Spring, Governor 1 6.40
 13 RK2515807 25 158 07 Use RK2515809  
 13 RK2515811 25 158 09 Kohler Bushing, Yellow Linkage 1 1.00
    Retaining   
 14 RKX1326 X-132-6 Kohler Screw, H.C. sems 1/4-20x1/2 1 0.81
 15 RKX2572 X-25-72 Kohler Washer, Plain 1/4 1 0.99
 16 RK235476 235476 Kohler Bushing, Governor Shaft 1 4.90
 17 RKX526 X-5-26 Kohler Screw, H.C. 1/4-20x1 1/2 1 0.99
 18 RKX201 X-20-1 Kohler Washer, Lock 1/4 1 0.99
 19 RKX2563 X-25-63 Kohler Washer, Plain 1/4 1 0.93
 20 RK2510019 X-76-2 Kohler Nut, Hex. 1/4-20 1 1.00
 21 RK275690 275690 Kohler Washer, Wave 1 2.10
 22 RK4709007 47 090 07 Kohler Lever, Choke Control 1 12.40
 23 RK4709008 47 090 08 Kohler Lever, Throttle Control 1 11.15
 24 RK4711202 47 112 02 Kohler Spacer 23/64 O.D., 13/16 Lg. 1 5.90
 25 RKX191 X-19-1 Kohler Washer, Lock #10 1 0.99
 26 RK232556 232556 Kohler Screw 1 2.70
 27 RK4712609 47 126 09 Kohler Bracket, Choke 1 7.60
 28 RK4723702 47 237 02 Kohler Clamp 1 3.35
 29 RKX724 X-72-4 Kohler Nut, Hex. 8/32 1 0.83
 30 RKX155 X-15-5 Kohler Screw, FHM 10-24x 1/2 1 0.99
 31 RK4707901 47 079 01 Kohler Linkage, Choke 1 4.15
      
      

20

19

7

8
9

11

10 12

16

1
2

6
53

4

14 15

13

1817

20
28

30
25

26

2722

21 2321

24

31

87

6

5

4
3

2

1

1
3

2

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

532

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Ignition - Group 18    
 1 RK4758401 47 584 01 Use RK4758402  
 1 RK4758403 47 584 03 Kohler Module, Ignition 1 50.75
 2 RKX6751 X-156-1 Kohler Screw, H.C. Sems 2 0.94
    10-24x7/8  
 3 RKX2579 X-25-79 Kohler Washer, Plain #10 2 0.99
 4 RK210281 210281 Kohler Clip, High Tension Lead 1 2.40
 5 RKX7781 X-778-1 Use RKX6751  
 6 RKX6751 X-675-1 Kohler Screw, R.H. 4 0.94
 6 RKX7281 X-728-1 Kohler Clip 1 0.93
 7 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 8 RK235041 235041-S Kohler Plug, Spark 1 4.55
 9 RK4140305 41 403 05 Use RK2575503  
	 9	 RK2575503	 25	755	03	 Kohler	Rectifier-Regulator	 1	 56.95
 10 RKX1324 X-132-4 Kohler Screw, H.C. Sems 1/4-20X1 2 0.99
 11 RK236602 236602 Kohler Connector, Female 1 3.30
 12 RK4115503 41 155 03 Kohler Connector, Male 1 1.00
 13 RK237878 237878 Kohler Kit, Stator 1 76.10
 14 RK4751838 47 518 38 Use RK4751845  
 14 RK4751845 47 518 45 Use RK4751843  
 14 RK4751843 47 518 43 Kohler Lead, White, w/diode,  1 19.15
    module to connector  
    (23"- 18-Gauge insulated  
    push-on tab- uninsulated  
    push-on tab terminals)  
	 14	 RK4751846	 47	518	46	 Kohler	Lead,	Violet,	Rectifier-	 1	 3.50
    regulator to connector  
    (12.5" - 14 Gauge Uninsulated  
    push-on tab terminals)
  Oil Pan - Group 21  
 1 RKX7510 X-75-10 Kohler Plug, Pipe 3/8 1 2.10
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
  Piston & Rod - Group 22 
  OLD STYLE PISTON
 1 RK4506722 45 067 22 Kohler Rod, Connecting - Standard 1 66.15
 1 RK4506723 45 067 23 Kohler Rod, Connecting - .010 1 62.00
 2 RK4587401 45 874 01 Kohler Piston Assy, Standard 1 154.70
 2 RK4587402 45 874 02 Kohler Piston Assy, .003 1 164.90
 2 RK4587403 45 874 03 Kohler Piston Assy, .010 1 154.70
 2 RK4587404 45 874 04 Kohler Piston Assy, .020 1 120.35
 2 RK4587405 45 874 05 Kohler Piston Assy, .030 1 120.35
 3 RK4510806 45 108 06 Kohler Ring Set, Std. & .003 1 50.10
 3 RK4510807 45 108 07 Kohler Ring Set, .010 1 52.50
 3 RK4510808 45 108 08 Kohler Ring Set, .020 1 52.50
 3 RK4510809 45 108 09 Kohler Ring Set, .030 1 52.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON
 5 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 6 RK4587411 45 874 01 Kohler Piston Assy, Standard 1 175.00
 6 RK4587412 45 874 02 Kohler Piston Assy, .003 1 131.20
 6 RK4587413 45 874 03 Kohler Piston Assy, .010 1 168.90
 6 RK4587414 45 874 04 Kohler Piston Assy, .020 1 168.70
 6 RK4587415 45 874 05 Kohler Piston Assy, .030 1 131.20
 7 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 7 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 7 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 7 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10

2

3
1

4

3
2

4

12

7

6

8

10

11

4
1

3

9

13

14

1

2

5

OLD STYLE
PISTON

NEW STYLE
PISTON

4

5

7
6

Model M16S    Spec. 711528
Fits Jacobsen Greens King IV

http://www.rrproducts.com


721

Genuine Kohler Shortblock
 includes Gasket Set w/Seals

R&R Part # RK7752233
1,135.40

Genuine Kohler Miniblock
 includes Gasket Set w/Seals

R&R Part # RK4778252
967.90

GASKET SET WITH SEALS
RK4775508

49.55

K SERIES SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2379
15.65

Complete Genuine 
Kohler  Engine

R&R Part # RKPA47827
 DISCONTINUED

USE SHORTBLOCK 
OR MINIBLOCK

Model K301S    Spec. 47827
Fits National Mower



722

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

  Air Intake - Group 1  
 1 RKX1672 X-167-2 Kohler Screw, H.C. 10-32 x 5/16 3 0.47
 2 RKX2767 X-276-7 Kohler Nut, Wing 1 0.39
 3 RK235101 235101 Kohler Base, Air Cleaner 1 23.05
 4 RK235102 235102 Kohler Cover, Air Cleaner 1 19.40
 5 RK235116 235116 Kohler Element 1 8.95
 6 RK275341 275341 Kohler Gasket, Air Horn 1 2.05
 7 RK237421 237421 Kohler Precleaner Element 1 3.85
 8 RKA235100 A-235100 Kohler Air Cleaner Assy. 1 50.55
   RK2511307 25 113 07 Kohler Decal, Air Cleaner 1 1.00
    (Not Illustrated)  
      
  Baffles & Shroud - Group 2  
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 x 3/4 5 0.99
 3 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 2 0.81
 4 RK235652 235652 Kohler Baffle, Side Air 1 6.60
 5 RK236676 236676 Kohler Baffle, Cylinder 1 8.05
 6 RK4702718 47 027 18 Kohler Housing, Blower 1 104.05
 7 RK237677 237677 Kohler Baffle, Head 1 15.30
 8 RKX1435 X-143-5 Kohler Screw, H.C. w/star washer 1 0.99
    sems 1/4-20 x 5/8  
      
      
      
      
      
  Breather & Vent - Group 3  
 1 RK275144 275144 Kohler Gasket 1 2.60
 2 RKX7991 X-799-1 Kohler Palnut 1 0.96
 3 RK231032 231032 Kohler Seal, Breather 1 2.70
 4 RK235047 235047 Kohler Reed, Breather 1 5.90
 5 RK235048 235048 Kohler Gasket, Valve Cover 1 2.30
 6 RK235117 235117 Kohler Baffle, Breather 1 2.40
 7 RK235118 235118 Kohler Filter, Breather 1 5.90
 8 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 9 RK235631 235631 Kohler Plate, Breather 1 12.70
 10 RKA235418 A-235418-S Kohler Cover, Valve, Incl. #6 & 7 1 10.85
        
      
      
      
      
      
  Camshaft & Valves - Group 4  
 1 RK230020 230020 Use RK5241301  
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK235168 235168 Kohler Spring, Valve 2 5.90
 4 RK235193 235193 Use RK4738009  
 4 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 5 RKD235327 D-235327 Kohler Tappet 2 19.30
 6 RK235008 235008 Kohler Valve, Intake 1 26.05
 7 RK235826 235826 Kohler Valve, Exhaust 1 22.80
 8 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 9 RK275066 275066 Kohler Spacer, Camshaft .005  A/R 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010  A/R 2.70
 10 RK4701009 47 010 09 Kohler Camshaft  Assy. 1 94.25
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
      

11

10

9
4

7

6

8

2

3

1

5

1

3

2

3

6
7

8

10

1

4

9

5

2

6

2

3

1

7

4 5

8

2

3

4
5

7

8

1 6

Model K301S    Spec. 47827
Fits National Mower

http://www.rrproducts.com


723

  Carburetor - Group 5  
 1 RKX3911 X-391-1 Use RK2515502  
 1 RK2515502 25 155 02 Kohler Elbow, Hose 1 0.47
 2 RK200380 200380 Kohler Spring, Idle Fuel 1 2.70
 3 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 5 RK275231 275231 Kohler Needle, Idle Fuel Adj. 1 6.25
 6 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 7 RK4785330 47 853 30 Kohler Carburetor Assy. 1 195.65
 8 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 9 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 10 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 11 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 12 RK235448 235448 Kohler Bowl 1 7.90
 13 RK2575701 25 757 01 Kohler Kit, Repair 1 11.50
 14 RK200376 200376 Kohler Pin 1 2.05
 15 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 16 RK2575703 25 757 03 Kohler Kit, Float Repair, Incl. #19 1 9.25
 17 RK4510301 47 103 01 Kohler Needle, Main Fuel Adjusting 1 12.00
 18 RK200383 200383 Kohler Spring, Idle Fuel Adjusting 1 2.10
 19 RK2504102 25 041 02 Kohler Gasket, Anti-splash 1 2.70
      
      
      
      
      
       
      
      
      
      
      
       
  Crankcase - Group 7 
 1 RKX7531 X-75-31 Use RK4713901  
 1 RK4713901 47 139 01 Kohler Plug, Pipe 1 2.40
 2 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 3 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 4 RKX23011 X-230-11 Kohler Plug 1 0.47
 5 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 6 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 7 RK235025 235025 Kohler Gasket, Cover 1 3.50
 8 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 9 RK235070 235070 Kohler Gasket A/R 2.40
 10 RK235125 235-125-S Kohler Shaft, Governor 1 28.20
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK235757 235757 Kohler Gasket 2 4.10
 13 RK236559 236559 Kohler Shaft 1 11.60
 14 RK4515603 45 156 03 Kohler Plate, Bearing 1 109.25
 15 RK4778298 47 782 82 Kohler Block, Cylinder Miniblock 1 895.30
 16 RK230265 230265 Kohler Insert, intake 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
 19 RKX7023 X-702-3 Kohler Plug, Cup  0.72
      
      
      
      
      

6

12

14

11

8

15

17

16

2

3

9

1

7

10

19

18 5

13  4

11

14

5

3

4

6

7

8

10

15
17

18

11

16

9

13

1

2
12

Model K301S    Spec. 47827
Fits National Mower

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each



724

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Crankshaft - Group 8   
 1 RKX26934 X-269-34 Kohler Retainer 2 0.73
 2 RK4714216 47 142 16 Kohler Crankshaft 1 242.90
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
 6 RK10355 10355 Kohler Timing Tool,  1 8.75
    Counter Balance Gears   
      
      
      
      
      
      
       
      
      
      
      
  Cylinder Head - Group 9  
 1 RK237522 237522 Kohler Stud A/R 5.80
 2 RK237658 237658 Use RK4704115  
 2 RK4704115 47 041 15 Kohler Gasket, Cylinder Head 1 9.35
 3 RK237670 237670 Kohler Head, Cylinder 1 113.25
 4 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 A/R 2.70
 5 RK270721 270721 Kohler Screw, H.C. A/R 3.65
 6 RK270889 270889 Kohler Washer 9 2.70
 7 RK4744501 47 445 01 Use RK4744502  
 7 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
 8 RK2510024 X-83-2 Kohler Nut, Hex 3/8-16 1 1.00
      
      
      
      
      
  Dipstick - Group 10  
 1 RKA235092 A-235092 Kohler Dipstick 1 14.65
      
      
      
      
      
      
      
  Electric Start - Group 11   
 1 RKX221 X-22-1 Kohler Washer 3/8 2 0.99
 2 RK234948 234948 Kohler Screw, H.C. 3/8-16 x 1 11/32 2 3.00
 3 RKA237534 A-237534 Use RK4509807  
 3 RK4509809 45 098 07 Kohler Starter Assy 1 139.85
 4 RK4575515 47 755 07 Kohler Kit, Drive 1 79.25
 6 RK4508105 4508105 Kohler Cap, Drive End 1 40.30
 7 RK4717001 47 170 01 Kohler Armature 1 158.25
 9 RK237649 237649 Kohler Thru Bolt with Washer 2 9.50
 10 RK4875515 48 755 15 Use RK5275515  
 10 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
      
      
      
      

7

3

4
5

6

89

10

12

1

17

6

2

3

4

8
6
5

6

6

2

1

45

3

6

Model K301S    Spec. 47827
Fits National Mower

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

http://www.rrproducts.com


725

  Flywheel - Group 13  
 1 RK4702524 47 025 24 Kohler Flywheel 1 339.20
 2 RK4775515 47 755 15 Kohler Kit, Grass Screen 1 23.65
 3 RKX25104 X-25-104 Kohler Washer 5/8 1 0.91
 3 RKX11914 X-119-14 Use RK2510002   
 4 RK2510002 25 100 02 Kohler Nut, Lock 5/8-18 1 1.25
 5 RK4708608 47 086 08 Kohler Screw, Pozidriv T.H. 1 1.80
 6 RKX28617 X-286-17 Kohler Key, Square 1 0.73
      
      
      
      
      
      
      
      
  Fuel Pump - Group 14   
 1 RKX1742 X-174-2 Kohler Screw, F.H.M. 1/4-20 x 3/4 2 0.47
 2 RK4704104 47 041 04 Use RK2504105  
 2 RK2504109 25 041 05 Kohler Gasket, Fuel Pump 1 1.15
 3 RK4755904 47 559 04 Kohler Pump, Fuel Assy. 1 40.45
 4 RK2515502 25 155 02 Kohler Connector, 900 Hose 1 0.47
 5 RKX39111 X-391-11 Kohler Clamp, Hose 1 3.80
 6 RK4135311 41 353 11 Kohler Line, Rubber Fuel 1 5.10
      
      
      
      
      
      
      
  Governor - Group 17   
 1 RKX7991 X-799-1 Kohler Palnut, 1/4-20 1 0.96
 2 RKX40080 X-400-80 Kohler Spacer 1 0.83
 3 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 4 RKX7761 X-776-1 Kohler Screw, sems 1/4-20 x 1 1/4 1 1.30
 5 RK235476 235476 Kohler Bushing 1 4.90
 6 RK235496 235496 Kohler Spring, Governor 1 4.75
 7 RK237022 237022 Kohler Washer, Thrust 1 2.40
 8 RKA235743 A-235743-S Kohler Kit, Governor Gear  1 22.10
 9 RKA235256 A-235256-S Kohler Shaft, Governor 1 9.15
 10 RKX2563 X-25-63 Kohler Washer, Plain 17/64 1 0.93
 11 RKX1329 X-132-9 Kohler Screw, sems 1/4-20 x 1 1/4 1 0.99
 12 RK236249 236249 Kohler Bracket, Speed Control 1 3.35
 13 RK235085 235085 Kohler Spacer 1 3.65
 14 RK4875510 48 755 10 Kohler Kit, Clamp 1 7.45
 15 RKA237559 A-237559 Kohler Bracket, Throttle 1 5.10
 16 RK235603 235603 Kohler Clip 1 2.05
 17 RK275690 275690 Kohler Washer, Wave 1 2.10
 18 RKA237653 A-237653 Kohler Lever Assy., Governor 1 22.30
 19 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
 20 RKA236947 A-236947 Kohler Bracket, Speed Control Assy. 1 15.20
 21 RK2515811 25 158 09 Kohler Bushing, Rod 1 1.00
 23 RK4707911 47 079 11 Kohler Linkage, Governor 1 1.25
 24 RK235084 235084 Kohler Bracket, Adjusting Screw 1 3.65
      
      

1

2

3

4
5

6

1

2
3

4

5

6

2

5

3

9

12

8

7

6

18

4

21

1011
17

1

19

23
21

16

13

14

15

20

Model K301S    Spec. 47827
Fits National Mower

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each



726

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Ignition - Group 18   
 1 RKX2552 X-25-52 Kohler Washer 1/4 2 0.99
 2 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 3 RKX1311 X-131-1 Kohler Screw, F.H.M. 10-24 x 3/8 4 0.47
 4 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 1 0.99
 5 RK4741104 47 411 04 Kohler Rod, Breaker 1 8.20
 6 RKX7281 X-728-1 Kohler Clip 1 0.93
 7 RKX6751 X-675-1 Kohler Screw, R.H. 1 0.94
 8 RK5204111 52 041 11 Kohler Gasket, Breaker 1 1.00
 9 RK232535 232535 Kohler Cover, Breaker 1 6.40
 10 RK236602 236602 Kohler Connector 1 3.30
 11 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 12 RK238057 238057 Kohler Kit, High Tension Lead 1 20.70
 13 RK275303 275303 Kohler Clip 1 2.05
 14 RK237878 237878 Kohler Stator 1 76.10
 15 RK4715003 47 150 03 Kohler Point Set 1 10.10
 16 RK230722 230722 Kohler Condenser 1 5.00
 17 RK231281 231281 Kohler Coil 1 29.95
 18 RK2575503 25 755 03 Kohler Kit, Rectifier-Regulator 1 56.95
 19 RK4712501 4712501 Kohler Lead 1 9.90
 20 RKX1325 X-132-5 Kohler Screw 1 0.99
 21 RKX1415 X-14-15 Screw, R.H.M. 8-32 x 1/4 1 0.99
 22 RK220297 220297 Grommet 1 2.05
 23 RKX2565 X-25-65 Washer, Plain #8 2 0.99
      
      
      
      
      
  Oil Pan - Group 21   
 1 RK2513956 X-75-6 Kohler Plug, Pipe  1 1.45
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235305 235305 Kohler Base, Oil Pan 1 136.25
      
      
      
      
      
  Piston & Rod - Group 22  
 1 RK4506724 47 067 09 Kohler Rod, Connecting - Standard 1 59.85
 1 RK4506725 47 067 10 Kohler Rod, Connecting - .010 1 83.55
 2 RK4787416 47 874 16 Kohler Piston Assy, Standard 1 101.75
 2 RK4787417 47 874 17 Kohler Piston Assy, .003 1 97.25
 2 RK4787418 47 874 18 Kohler Piston Assy, .010 1 97.25
 2 RK4787419 47 874 19 Kohler Piston Assy, .020 1 97.25
 2 RK4787420 47 874 20 Kohler Piston Assy, .030 1 97.25
 3 RK4710801 47 108 01 Kohler Ring Set, Std. & .003 1 43.75
 3 RK4710802 47 108 02 Kohler Ring Set, .010 1 54.70
 3 RK4710803 47 108 03 Kohler Ring Set, .020 1 44.20
 3 RK4710804 47 108 04 Kohler Ring Set, .030 1 44.20
 4 RK4701801 47 018 01 Kohler Retainer, Pin 1 2.10

4

3

2

1

1

3

4

2

1
2

3

4

5

6

7

8
9

11
12

13

14

15

16

1719

22

2321

10

20
18

Model K301S    Spec. 47827
Fits National Mower

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

http://www.rrproducts.com


810

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Genuine Kohler  Shortblock
Includes Gasket Set with Seals

R&R Part # RK7752251
1,327.65

Genuine Kohler Miniblock
Includes Gasket Set with Seals

R&R Part # RK4778298
895.30

GASKET SET WITH SEALS
RK4775508  

49.55

K SERIES SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2379
15.65

Complete Genuine 
Kohler Engine

R&R Part # RKPX60407

1,858.40

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849

http://www.rrproducts.com


811

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Air Intake - Group 1  
 1 RKX1672 X-167-2 Kohler Screw, H.C. 10-32 x 5/16 3 0.47
 2 RKX2767 X-276-7 Kohler Nut, Wing 1/4-20 1 0.39
 3 RK235101 235101 Kohler Base, Air Cleaner 1 23.05
 4 RK235102 235102 Kohler Cover, Air Cleaner 1 19.40
 5 RK235116 235116 Kohler Element 1 8.95
 6 RK275341 275341 Kohler Gasket, Air Horn 1 2.05
 7 RK237421 237421 Kohler Precleaner Element 1 3.85
 8 RKA235100 A-235100 Kohler Air Cleaner Assy. 1 50.55
  RK2511301 25 113 01 Use RK2511307  
  RK2511307 25 113 07 Kohler Decal, Air Cleaner  1 1.00
      
      
	 	 Baffles	&	Shroud	-	Group	2	 	
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 x 3/4 5 0.99
 3 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 2 0.81
 4 RK235652 235652 Kohler Baffle, Side Air 1 6.60
 5 RK4702718 47 027 18 Kohler Housing, Blower 1 104.05
 6 RK237677 237677 Kohler Baffle, Cylinder 1 15.30
 7 RK235054 235054 Kohler Baffle, Head 1 10.65
      
      
      
      
      
  Breather & Vent - Group 3  
 1 RKX4263 X-426-3 Kohler Clamp, Hose 1 2.80
 2 RKX4269 X-426-9 Kohler Clamp, Hose 1 2.55
 3 RK231032 231032 Kohler Seal, Breather 1 2.70
 4 RK235047 235047 Kohler Reed, Breather 1 5.90
 5 RK235048 235048 Kohler Gasket, Breather Plate 1 2.30
 6 RK235117 235117 Kohler Baffle, Breather 1 2.40
 7 RK235118 235118 Kohler Filter, Breather 1 5.90
 8 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 9 RK235631 235631 Kohler Plate, Breather 1 12.70
 10 RK275839 275839 Kohler Cover, Valve 1 37.80
 11 RK275144 275144 Kohler Gasket 1 2.60
 12 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 13 RK4732602 47 326 02 Kohler Hose 1 16.95
      
      
      
      
  Camshaft & Valves - Group 4 
 1 RK230020 230020 Use RK5241301  
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK235168 235168 Kohler Spring, Valve 2 5.90
 4 RK235193 235193 Use RK4738009  
 4 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 5 RKD235327 D-235327 Kohler Tappet 2 19.30
 6 RK235582 235582 Kohler Valve, Intake 1 52.45
 7 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 8 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 9 RK275066 275066 Kohler Spacer, Camshaft .005 (A.R.) 1 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010 (A.R.) 1 2.70
 10 RK4701009 47 010 09 Kohler Camshaft  Assy. 1 94.25
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
      
      

3

6
7

8

10

11

9

4

5

2

3

4
5

7

8

61

2

4

1

2

12

1
3

13

1

5

10

9
4

8

6

7
2

3

1

3

2

11

5

76

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849



812

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

4

5

6 1

2

7

  Carburetor - Group 5
 1 RK275231 275231 Kohler Needle, Idle Fuel Adjusting 1 6.25
 2 RK2575703 25 757 03 Kohler Kit, Float (Incl #19) 1 9.25
 3 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 4 RKA236919 A-236919 Kohler Bracket Assy., Choke  1 7.30
 5 RK235603 235603 Kohler Clip, Choke Cable 1 2.05
 6 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 7 RK4705320 47 053 20 Use RK4785332 1 
 7 RK4785332 47 853 32 Kohler Carburetor Assy. 1 213.65
 8 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 9 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 10 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 11 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 12 RK235448 235448 Kohler Bowl 1 7.90
 13 RK200376 200376 Kohler Pin 1 2.05
 14 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 15 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 16 RK4710301 47 103 01 Kohler Needle, Main Fuel Adjusting 1 10.85
 17 RK200380 200380 Kohler Spring, Idle Fuel Adjusting 1 2.70
 18 RK2575701 25 757 01 Kohler Kit, Carburetor Repair 1 11.50
 19 RK2504102 25 041 02 Kohler Gasket, Bowl Baffle 1 2.70
 20 RK237917 237917 Kohler Spring, Float 1 5.35
      
      
    

  
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug, Hex. ctsk. 3/4 N.P.T.F. 1 2.40
 2 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 3 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 4 RKX23011 X-230-11 Kohler Plug 1 0.47
 5 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 6 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 7 RK235025 235025 Kohler Gasket, Cover 1 3.50
 8 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 9 RK235070 235070 Kohler Gasket (A.R.) 1 2.40
 10 RK235125 235125-S Kohler Shaft, Governor 1 28.20
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK235757 235757 Kohler Gasket 1 4.10
 13 RK236559 236559 Kohler Shaft 2 11.60
 14 RK4515602 45 156 02 Kohler Plate, Bearing 1 126.40
 15 RKB237836 B-237836 Use RK4778298  
 15 RK4778298 47 782 98 Kohler Block, Cylinder Miniblock 1 895.30
 16 RK230265 230265 Kohler Insert, intake 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
      
      

8

9

10
11

12

13

14

15

16

17

20

3

9

11

12

13

14

3

5

4

6

7

8

10

15

16

17

18

11

2

1

19

18

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849

http://www.rrproducts.com


813

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Crankshaft - Group 8    
 1 RKX26934 X-269-34 Kohler Retainer 2 0.73
 2 RK4704201 47 042 01 Use RK4504303  
 2 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 3 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 4 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
 5 RK4501405 45 014 05 Use RK4514236  
 5 RK4514217 45 142 17 Use RK4514236  
 5 RK4514236 45 142 36 Kohler Crankshaft  1 244.20
      
      
      
      
  Cylinder Head - Group 9 
 1 RK4744501 47 445 01 Use RK4744502  
 1 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
 2 RK237658 237658 Use RK4704110  
 2 RK4704110 47 041 10 Use RK4704115  
 2 RK4704115 47 041 15 Kohler Gasket, Cylinder Head 1 9.35
 3 RK237670 237670 Kohler Head, Cylinder 1 113.25
 4 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 8 2.70
 5 RK270721 270721 Kohler Screw, H.C. 3/8-16X1 3/4 1 3.65
 6 RK270889 270889 Kohler Washer, Plain 3/8 10 2.70
      
      
      
      
      
  Dipstick - Group 10 
 1 RK237012 237012 Use RK4712308  
 1 RK4712308 47 123 08 Kohler Tube, Oil Fill 1 21.05
 2 RK237013 237013 Kohler Dipstick 1 13.30
      
      
      
      
      
      
      
      
      
  Electric Start - Group 11 
 1 RKX221 X-22-1 Kohler Washer 3/8 2 0.99
 2 RK234948 234948 Kohler Screw, H.C. 3/8-16 x 1-11/32 2 3.00
 3 RK4509807 45 098 07 Use RK4509809  
 3 RK4509809 45 098 09 Kohler Starter Assy 1 139.85
 4 RK4175533 47 755 07 Kohler Kit, Drive 1 77.65
 5 RK4775515 47 755 15 Kohler Kit, Drive Parts 1 23.65
 6 RK4508105 237650 Kohler Cap, Drive End 1 40.30
 8 RK4822704 48 227 04 Discontinued 1 
 9 RK237649 237649 Kohler Thru Bolt with Washer 2 9.50
 10 RK4875515 48 755 15 Use RK5275515  
 10 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
  RK5235701 52 357 01 Kohler Lubricant, Starter 1 4.15
       
      

1

5

2

4

1

2

3

4
5

6

89

10

12

3

1

2

3

4
6

6
5

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849



814

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Exhaust - Group 12 
 1 RK235899 235899 Use RK4107219  
 1 RK4107219 47 072 19 Kohler Stud 2 3.10
 2 RK235122 235122 Kohler Gasket, Exhaust Flange 2 2.70
      
      
      
  Flywheel - Group 13 
 1 RK4702524 47 025 24 Kohler Flywheel 1 339.20
 2 RK4775515 47 755 15 Kohler Kit, Grass Screen 1 23.65
 3 RK4708608 47 086 08 Kohler Screw, pozidriv T.H. 1/4-20x5/8 4 1.80
 4 RKX28617 X-286-17 Kohler Key, Square  1 0.73
     Before Serial #15139547  
 6 RKX11914 X-119-14 Use RK2510002  
 6 RK2510002 25 100 02 Kohler Nut, Lock 5/8-18   1 1.25
     Before Serial #15139547  
 7 RKX463 X-46-3 Kohler Key, Woodruff  1 0.93
     After Serial #15139546   
 8 RK5211402 52 114 02 Use RK5246815  
 8 RK5246815 52 468 15 Kohler Washer, Plain 1 3/8 O.D.   1 2.05
     After Serial #15139546  
 9 RK2508604 25 086 04 Use RK2508624  
 9 RK2508624 25 086 24 Kohler Screw, Hex. Mach. 3/8-24x1 1/8   1 1.25
     After Serial #15139546  
      
      
      
      
  Fuel Pump - Group 14 
 1 RKX1742 X-174-2 Kohler Screw, F.H.M. 1/4-20 x 3/4 2 0.47
 2 RK4704104 47 041 04 Use RK2504105  
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK240282 240282 Kohler Cover, Pump Pad 1 3.35
      
      
      
  Governor - Group 17 
 1 RK2546801 25 468 01 Kohler Washer 1 1.00
 2 RKX40080 X-400-80 Kohler Spacer 1 0.83
 3 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 4 RK235278 235278 Kohler Retainer, Rod 1 2.05
 5 RK235476 235476 Kohler Bushing 1 4.90
 6 RK235496 235496 Kohler Spring, Governor 1 4.75
 7 RK237022 237022 Kohler Washer, Thrust 1 2.40
 8 RKA236294 A-236294-S Kohler Kit, Governor Gear  1 20.30
     (Incl. thrust washer)  
 9 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
      (Incl. spacer)  
 10 RKA237653 A-237653 Kohler Lever, Governor Assy. 1 22.30
 11 RKX7761 X-776-1 Kohler Screw, sems 1/4-20 x 1 1/4 1 1.30
 12 RKX7991 X-799-1 Kohler Palnut1/4-20 1 0.96
 13 RKA236947 A-236947 Kohler Bracket, Speed Control 1 15.20
 14 RKX2563 X-25-63 Kohler Washer, Pain 1/4 1 0.93
 15 RKX25102 X-25-102 Kohler Washer, Plain 1/4 1 0.97
 16 RK4108620 X-51-8 Kohler Screw, R.H.M. 8-32 x 1/4 1 1.00
 17 RKX1329 X-132-9 Kohler Screw, H.C. Sems 1/4-20x1 1/4 1 0.99
 18 RK4875510 47 755 10 Kohler Kit, Clamp 1 7.45
 19 RK235084 235084 Kohler Bracket, Adjusting Screw 1 3.65
 20 RK235085 235085 Kohler Spacer 1 3.65
 21 RK236249 236249 Kohler Bracket, Speed Control 1 3.35
 22 RK275690 275690 Kohler Washer, Tension 1 2.10
      

1

2

3

1

2

2

4

5

6

9
3

1

12

10
11

19
16 14

15
22

21

17

18

20
13

4

1

3

2

5
6

7
8

9

8

7

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849

http://www.rrproducts.com


815

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Ignition - Group 18 
 1 RK237878 237878 Kohler Kit, Stator (15 amp.) 1 76.10
 2 RKX7781 X-778-1 Use RKX6751  
 2 RKX6751 X-675-1 Kohler Screw, R.H. 10-24 x 3/4 4 0.94
 3 RKX7281 X-728-1 Kohler Clip 1 0.93
 4 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 5 RK275303 275303 Kohler Clip 1 2.05
 6 RK4741104 47 411 04 Kohler Rod, Breaker 1 8.20
 7 RK4715003 47 150 03 Kohler Breaker Assembly 1 10.10
 8 RK4775703 47 757 03 Kohler Tune Up Kit 1 22.40
 9 RK4775705 47 757 05  Kohler Ignition Kit 1 17.15
 10 RKX1311 X-131-1 Kohler Screw, F.H.M. 10-24 x 3/8 4 0.47
 11 RK5204111 52 041 11 Kohler Gasket, Cover 1 1.00
 12 RK232535 232535 Kohler Cover, Breaker 1 6.40
 13 RK230722 230722 Kohler Condenser 1 5.00
 14 RK231281 231281 Kohler Coil 1 29.95
 15 RKX1322 X-132-2 Kohler Screw, H.C. Sems 1/4-20x3/4 2 0.99
 16 RK4815502 48 155 02 Kohler Connector 1 4.35
 17 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 18 RK238057 238057 Kohler Kit, High Tension Lead 1 20.70
 19 RKX1324 X-132-4 Kohler Screw, H.C. Sems 1/4-20x1 2 0.99
 20 RK236602 236602 Kohler Connector 1 3.30
 21 RK4140305 41 403 05 Use RK2575503  
 21 RK2575503 25 755 03 Kohler Rectifier-Regulator 1 56.95
 22 RK220297 220297 Kohler Grommet 1 2.05
 23 RKA231533 A-231533 Kohler Lead, Black 1 6.20
    (17"-14 Gauge - Insulated Barrel Eyelet - Uninsulated Barrel Open Side Terminals) 
 23 RK2551811 25 518 11 Kohler Lead, Black 1 5.90
         (18"-14 Gauge - Insulated Barrel Eyelet - Uninsulated Push Tab on Terminals) 
 23 RK2551805 25 518 05 Kohler Lead, Black 1 2.10
         (5" - 14Gauge - Uninsulated Push Tab on Terminals) 
      
  Oil Pan - Group 21 
 1 RKX3054 X-305-4 Kohler Plug, Magnetic Drain Hex. Hd. 3/8 1 7.60
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
  Piston & Rod - Group 22 
  OLD STYLE PISTON DESIGN
 1 RK4706709 47 067 09 Kohler Rod, Connecting (Std.) 1 45.10
 1 RK4706710 47 067 10 Kohler Rod, Connecting (.010) 1 45.10
 2 RK4787411 47 874 11 Kohler Piston Assy, Standard 1 131.90
 2 RK4787412 47 874 12 Kohler Piston Assy, .003 1 111.55
 2 RK4787413 47 874 13 Kohler Piston Assy, .010 1 131.90
 2 RK4787414 47 874 14 Kohler Piston Assy, .020 1 131.90
 2 RK4787415 47 874 15 Kohler Piston Assy, .030 1 131.90
 3 RK4810805 48 108 05 Kohler Ring Set, Std. & .003 1 53.90
 3 RK4810806 48 108 06 Kohler Ring Set, .010 1 49.40
 3 RK4810807 48 108 07 Kohler Ring Set, .020 1 63.50
 3 RK4810808 48 108 08 Kohler Ring Set, .030 1 63.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON DESIGN 
 5 RK4506724 45 067 24 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 25 Kohler Rod, Connecting - .010 1 83.55
 6 RK4787421 47 874 21 Kohler Piston Assy, Standard 1 166.65
 6 RK4787422 47 874 22 Kohler Piston Assy, .003 1 124.95
 6 RK4787423 47 874 23 Kohler Piston Assy, .010 1 160.65
 6 RK4787424 47 874 24 Kohler Piston Assy, .020 1 160.65
 6 RK4787425 47 874 25 Kohler Piston Assy, .030 1 124.95
 7 RK4710805 47 108 05 Kohler Ring Set, Std. & .003 1 59.30
 7 RK4710806 47 108 06 Kohler Ring Set, .010 1 56.55
 7 RK4710807 47 108 07 Kohler Ring Set, .020 1 56.55
 7 RK4710808 47 108 08 Kohler Ring Set, .030 1 56.55
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 
  Order parts according to design used on engine   
 

1

3

4

2

3

4

1

2

18

8 9

6

21
20

10
5

16

2

17

13

7

12

4

3

1

22

14
11

19

15

23

7

3

6

5

NEW STYLE
PISTON

OLD STYLE
PISTON

Model K321S    Spec. 60407
Fits Toro Greensmaster 3 & 300
For Toro Greensmaster 3000 see pages 828-833
For Toro Greensmaster 3100 see pages 844-849



828

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Genuine Kohler  
Shortblock includes Gasket Set

R&R Part # RK4552261
1,137.25

Genuine Kohler Miniblock
includes Gasket Set

R&R Part # RK4578228
885.75

GASKET SET WITH SEALS
RK4575512

 37.30

MAGNUM SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2203A
15.65

Complete Genuine 
Kohler Magnum Engine

R&R Part # RKPX711533

1,815.95

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000

http://www.rrproducts.com


829

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Air Intake - Group 1 
 1 RKX1672 X-167-2 Kohler Screw, H.C. 10-32 x 5/16 3 0.47
 2 RKX2767 X-276-7 Kohler Nut, Wing 1 0.39
 3 RK4509401 45 094 01 Kohler Base, Air Cleaner 1 23.75
 4 RK4508201 45 082 01 Kohler Cover, Air Cleaner 1 28.50
 5 RK4508302 45 083 02 Kohler Element 1 9.90
 6 RK4508301 45 083 01 Kohler Precleaner, Element 1 5.15
 7 RK275341 275341 Kohler Gasket, Air Horn 1 2.05
   RK2511307 25 113 07 Kohler Decal, Air Cleaner 1 1.00
      
      
      
	 	 Baffles	&	Shroud	-	Group	2	
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RK5208611 52 086 11 Kohler Screw, Hex. Wash. Hd. 6 1.35
     1/4-20x 5/8  
 3 RK4708608 47 086 08 Kohler Screw, Pozidriv T.H. 1 1.80
     1/4-20 x 5/8  
 4 RK4706311 47 063 11 Kohler Baffle, Side Air 1 31.40
 5 RK4706310 47 063 10 Kohler Baffle, Cylinder 1 9.50
 6 RK4702742 47 027 42 Kohler Housing, Blower 1 76.95
 7 RK4506308 45 063 08 Kohler Baffle, Head 1 14.25
 8 RK4706307 47 063 07 Kohler Baffle, Inner 1 12.70
      
      
      
      
      
      
      
  Breather & Vent - Group 3 
 1 RKX4263 X-426-3 Kohler Clamp, Hose 1/2" wide 1 2.80
 2 RKX4269 X-426-9 Kohler Clamp, Hose 5/16" wide 1 2.55
 3 RKX7991 X-799-1 Kohler Palnut, 1/4-20 1 0.96
 4 RK231032 231032 Kohler Seal, Breather 1 2.70
 5 RK235047 235047 Kohler Reed, Breather 1 5.90
 6 RK235048 235048 Kohler Gasket, Valve Cover 1 2.30
 7 RK235117 235117 Kohler Baffle, Breather 1 2.40
 8 RK235118 235118 Kohler Filter, Breather 1 5.90
 9 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 10 RK235631 235631 Kohler Plate, Breather 1 12.70
 11 RK275839 275839 Kohler Cover, Valve 1 37.80
 12 RK275144 275144 Kohler Gasket 1 2.60
 13 RK4732602 47 326 02 Kohler Hose 1 16.95
      
  Camshaft & Valves - Group 4 
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 4 RK235168 235168 Kohler Spring, Valve 2 5.90
 5 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 6 RKD235327 D-235327 Kohler Tappet 2 19.30
 7 RK235582 235582 Kohler Valve, Intake 1 52.45
 8 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 9 RK275066 275066 Kohler Spacer, Camshaft .005  A/R 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010  A/R 2.70
 10 RK4701011 47 010 11 Kohler Camshaft  Assy. 1 78.90
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
 12 RKX7023 X-702-3 Kohler Plug, Cup 1 0.72
      
      

1

2

3

5

6

7

4

8

2

4

7 1
3

2

6

5

11 9

5
8

7

2

2

4

4

6

3

12

1

1

10

3

4

5

12

7
8

9

10

11

6

13
2

1

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000



830

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Carburetor - Group 5    
 1 RK4515501 45 155 01 Kohler Connector, Hose 1 3.35
 2 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 3 RK4585307 45 853 07 Use 4585313   
 3 RK4585313 45 853 13 Kohler Kit, Carburetor 1 187.15
 4 RK4504107 45 041 07 Kohler Gasket, Air Cleaner 1 2.05
 6 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 7 RK2508627 25 086 27 Kohler Screw, Throttle & Choke Plate 4 1.45
 8 RK4514607 45 146 07 Kohler Plate, Choke 1 2.05
 9 RK2519401 25 194 01 Kohler Ball, Choke Friction 1 4.40
 10 RK2508903 25 089 03 Kohler Spring, Choke Friction 1 4.40
 11 RK4714436 47 144 25 Kohler Shaft, Throttle w/Lever & Seal 1 12.55
 12 RK4714610 47 146 10 Kohler Plate, Throttle 1 5.90
 13 RK2508902 25 089 02 Kohler Spring, Idle Fuel 1 1.85
 14 RK2536801 25 368 01 Kohler Needle, Idle Fuel Adj. 1 2.35
 15 RK2508904 25 089 04 Kohler Spring, Idle Speed 1 3.85
 16 RK2508626 25 086 26 Kohler Screw, Idle Speed Adj. 1 1.80
 17 RK4709038 47 090 38 Kohler Lever Assembly, Choke 1 17.65
 19 RK2504104 25 041 04 Kohler Gasket, Bowl 1 3.15
 20 RK2575709 25 757 09 Kohler Kit, Float 1 11.30
 21 RK2510401 25 104 01 Kohler Bowl, Fuel 1 9.15
 22 RK2504103 25 041 03 Kohler Gasket, Bowl Retainer Screw 1 2.40
 23 RK2510005 25 100 05 Kohler Screw, Bowl Retainer 1 1.60
 24 RK2515505 25 155 05 Kohler Connector, Hose 1 18.55
 27 RK2536803 25 368 03 Kohler Needle, Main Fuel 1 3.10
 28 RK2508902 25 089 02 Kohler Spring, Main Fuel 1 1.85
  RK2575711 25 757 11 Kohler Kit, Carburetor Repair 1 25.15
      
      
      
      
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug, Hex. Ctsk. 3/4 N.P.T.F 1 2.40
 2 RK4704109 47 041 09 Kohler Gasket, Bearing Plate 1 1.55
 3 RKX23011 X-230-11 Kohler Plug, Expansion 1 0.47
 4 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 5 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 6 RK235025 235025 Kohler Gasket, Camshaft Cover 1 3.50
 7 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 8 RK4742205 47 422 05 Kohler Gasket, Shim  A/R 1.45
 9 RK235125 235125-S Kohler Shaft, Governor Gear 1 28.20
 10 RK236559 236559 Kohler Shaft, Balance Gear Stub 2 11.60
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK4714611 47 146 11 Kohler Plate, Bearing 1 106.05
 13 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 14 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 15 RK4578228 45 782 28 Kohler Block, Cylinder Miniblock 1 885.75
 16 RK230265 230265 Kohler Insert, Valve 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
        
      

12

11

2
8

10

4

14

13
7

6

9

3
18

115

16
17

15

1

11

2

8 10

15

14

4

6

7

13

9

12

16

1

17

3

20

21
22
23

24

28

19

7

27

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000

http://www.rrproducts.com


831

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000

  Crankshaft - Group 8    
 1 RK4514236 45 142 36 Kohler Kit, Crankshaft 1 244.20
 2 RKX26934 X-269-34 Kohler Retainer 2 0.73
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
      
      
      
      
      
      
      
  Cylinder Head - Group 9    
 1 RK4504117 45 041 16 Kohler Gasket, Cylinder Head 1 9.60
 2 RK4501509 45 015 09 Kohler Head, Cylinder 1 118.15
 3 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 9 2.70
 4 RK4708617 47 086 17 Kohler Screw, Hex. Socket Hd. 1 12.60
     3/8-16 x 1  
 5 RK270889 270889 Kohler Washer 10 2.70
 6 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
      
      
      
      
      
      
      
  Dipstick - Group 10    
 1 RK4712314 47 123 14 Kohler Tube, Oil Fill 1 80.95
 2 RK4727203  47 272 03 Kohler Dipstick 1 77.60
 3 RK237064 237064 Kohler Gasket 1 3.35
 4 RKX1312 X-131-2 Kohler Screw, F.H. sems 3 0.47
    10-24 x 1/2  
      
      
      
      
  Electric Start - Group 11    
 1 RK4712629 47 126 29 Kohler Bracket, Solenoid 1 13.55
 2 RKX1592 X-159-2 Kohler Screw, H.C. Sems 3/8-16x1 2 1.30
 3 RK4512617 45 126 17 Kohler Brace, Tail 1 2.30
 4 RKX6762 X-67-62 Kohler Screw, Hex. Wash. Hd. 1 0.83
     1/4-20x3/4   
 5 RKX6783 X-67-83 Kohler Screw, Hex. Wash. Hd. 1 0.23
     1/4-20x3/8   
 6 RK2545003 25 450 03 Kohler Tag, Caution 1 0.42
 7 RK4109806 41 098 06 Kohler Starter Assy 1 148.50
 8 RK4108619 41 086 19 Kohler Bolt, Thru 1/4-20x5 1/16 2 9.75
 9 RK4175533 47 755 07 Kohler Kit, Drive 1 77.65
 11 RK4108105 41 227 03 Kohler Cap, Drive End 1 40.30
 13 RK5222703 41 227 04 Discontinued 1 
 14 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
      
      

5

2

4

3

1

2

3

5

6

4

1

4

1

2 3

14
1

8

13

11

10

9

2

5 3
6
4

7



832

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Exhaust - Group 12    
 1 RK4107219 41 072 19 Kohler Stud 2 3.10
 2 RK4504115 45 041 15 Kohler Gasket, exhaust 1 4.30
  Flywheel - Group 13    
 1 RKX463 X-46-3 Kohler Key, Woodruff 3/16x1 1 0.93
 2 RK4702553 47 025 53 Kohler Flywheel 1 277.95
 3 RK5246815 52 468 15 Kohler Washer, Plain 13/32 I.D., 1 2.05
     1 3/8 O.D.  
 4 RK2508624 25 086 24 Kohler Screw, Hex. Mach. 1 1.25
     3/8-24x1 1/8  
 5 RK2515701 25 157 01 Kohler Fan 1 32.40
 6 RK2511204 25 112 04 Kohler Spacer 17/64 I.D., 3/8 O.D. 4 1.25
     15/64 lg.  
 7 RK2508621 25 086 21 Kohler Screw, Hex. Wash. Hd. 4 1.20
     1/4-20x5/8  
 8 RK2516201 25 162 01 Kohler Screen, Grass 1 7.45
  Fuel Pump - Group 14    
 1 RKX1742 X-174-2 Kohler Screw, H.C. 1/4-20 x 3/4 2 0.47
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK240282 240282 Kohler Cover, Pump Pad 1 3.35
  Governor - Group 17    
 1 RK237022 237022 Kohler Washer, Thrust 1 2.40
 2 RKA235743 A-235743-S Kohler Kit, Governor Gear 1 22.10
 3 RKX40080 X-400-80 Kohler Spacer 1 0.83
 4 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 5 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
 6 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
 7 RK4709020 47 090 20 Kohler Lever, Governor 1 4.65
 8 RK4715807 47 158 07 Kohler Bushing, Natural Linkage 1 1.00
     Retaining  
 9 RKX7761 X-776-1 Kohler Screw, H.C. Sems 1 1.30
     1/4-20x1 1/4  
 10 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 11 RK4707910 47 079 10 Kohler Linkage, Governor 1 3.70
 12 RK235496 235496 Kohler Spring, Governor 1 4.75
 13 RK2515811 25 158 09 Kohler Bushing, Black Linkage Retaining 1 1.00
 14 RKX1321 X-132-1 Kohler Screw, H.C. Sems  1 0.99
 15 RKX2572 X-25-72 Kohler Washer, Plain 1/4 1 0.99
 16 RK235476 235476 Kohler Bushing, Governor Shaft 1 4.90
 17 RKX526 X-5-26 Kohler Screw, H.C. 1/4-20x1 1/2 1 0.99
 18 RKX201 X-20-1 Kohler Washer, Lock 1/4 1 0.99
 19 RKX2563 X-25-63 Kohler Washer, Plain 1/4 1 0.93
 20 RK2510019 X-76-2 Kohler Nut, Hex. 1/4-20 1 1.00
 21 RK275690 275690 Kohler Washer, Wave 1 2.10
 22 RK4709006 47 090 06 Kohler Lever, Choke Control 1 12.60
 23 RKX25102 X-25-102  Kohler Washer, Plain  1 0.97
 24 RK4711202 47 112 02 Kohler Spacer 23/64 O.D., 13/16 Lg. 1 5.90
 25 RKX191 X-19-1 Kohler Washer, Lock #10 1 0.99
 26 RK232556 232556 Kohler Screw 1 2.70
 27 RK4712609 47 126 09 Kohler Bracket, Choke 1 7.60
 28 RK4723702 47 237 02 Kohler Clamp 1 3.35
 29 RKX724 X-72-4 Kohler Nut, Hex. 8/32 1 0.83
 30 RK4875510 48 755 10  Kohler  Kit, Clamp 1 7.45
 31 RK4707901 47 079 01 Kohler Linkage, Choke 1 4.15
 32 RKX2558 X-25-58 Kohler Washer 1 0.99
 33 RKX1023 X-102-3 Kohler Screw 1 1.05
 34 RKX1329 X-132-9 Kohler Screw, H.C. Sems 1 0.99
 35 RK236249 236249 Kohler Bracket, Speed Control 1 3.35
 36 RK235085 235085 Kohler Spacer 1 3.65
 37 RK235084 235084 Kohler Bracket 1 3.65
 38 RKX6751 X-67-61 Kohler Screw 1 0.94
 39 RK2546804 25 468 04 Kohler Washer 1 1.10

1
3

2

2

1

6

3 4

5

7

8

9

58

10
12

7
13

3
6

4

211

16

15

30

25

26

28
20

271514

23

21

2124

22
17 18

19

31

37

38

36

34

35

33
32

39

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000

http://www.rrproducts.com


833

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each
  Ignition - Group 18    
 1 RK4758401 47 584 01 Use RK4758402  
 1 RK4758403 47 584 02 Kohler Module, Ignition 1 50.75
 2 RKX6751 X-156-1 Kohler Screw, H.C. Sems 2 0.94
     10-24x7/8  
 3 RKX2579 X-25-79 Kohler Washer, Plain #10 2 0.99
 4 RK210281 210281 Kohler Clip, High Tension Lead 1 2.40
 5 RKX1326 X-132-6 Kohler Screw, R.H. 4 0.81
 6 RK235173 235173 Kohler Clip 1 3.65
 7 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 8 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 9 RK2575503 25 755 03 Kohler Rectifier-Regulator 1 56.95
 10 RKX1325 X-132-5 Kohler Screw, H.C. Sems   2 0.99
 11 RK236602 236602 Kohler Connector, Female 1 3.30
 12 RK4115503 41 155 03 Kohler Connector, Male 1 1.00
 13 RK237878 237878 Kohler Kit, Stator 1 76.10
 14 RK4751836 47 518 36 Kohler Lead, Violet, Rectifier- 1 5.00
     regulator to connector  
     (23" - 14 Gauge Uninsulated  
     push-on tab terminals)  
 14 RK4751843 47 518 43 Kohler Lead, White w/diode 1 19.15
     (Service replacement lead  
     for lead w/diodes)  
     (5"-18-Gauge insulated- push-  
      on tab - insulink terminals)   
      
  Oil Pan - Group 21    
 1 RKX3054 X-305-4 Kohler Plug, Pipe 3/8 1 7.60
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
      
  Piston & Rod - Group 22    
  OLD STYLE PISTON    
 1 RK4506722 45 067 22 Kohler Rod, Connecting - Standard 1 66.15
 1 RK4506723 45 067 23 Kohler Rod, Connecting - .010 1 62.00
 2 RK4587401 45 874 01 Kohler Piston Assy, Standard 1 154.70
 2 RK4587402 45 874 02 Kohler Piston Assy, .003 1 164.90
 2 RK4587403 45 874 03 Kohler Piston Assy, .010 1 154.70
 2 RK4587404 45 874 04 Kohler Piston Assy, .020 1 120.35
 2 RK4587405 45 874 05 Kohler Piston Assy, .030 1 120.35
 3 RK4510806 45 108 06 Kohler Ring Set, Std. & .003 1 50.10
 3 RK4510807 45 108 07 Kohler Ring Set, .010 1 52.50
 3 RK4510808 45 108 08 Kohler Ring Set, .020 1 52.50
 3 RK4510809 45 108 09 Kohler Ring Set, .030 1 52.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON 
 5 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 6 RK4587411 45 874 01 Kohler Piston Assy, Standard 1 175.00
 6 RK4587412 45 874 02 Kohler Piston Assy, .003 1 131.20
 6 RK4587413 45 874 03 Kohler Piston Assy, .010 1 168.90
 6 RK4587414 45 874 04 Kohler Piston Assy, .020 1 168.70
 6 RK4587415 45 874 05 Kohler Piston Assy, .030 1 131.20
 7 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 7 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 7 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 7 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10

3
2

4

12

5

7

6

8

10

11

4
1

2
3

9

13

14

1

2

3
1

4

OLD STYLE
PISTON

NEW STYLE
PISTON

4

5

7
6

Model M16S    Spec. 711533
Fits Toro Greensmaster 3000



880

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Model M16QS Spec. 711563
Fits Toro Reelmaster 216

Genuine Kohler  Miniblock
Incluedes Gasket Set

R&R Part # RK4578233
926.15

GASKET SET WITHOUT SEALS
RK4775527

 36.80

GASKET SET WITH SEALS
RK4575512

 37.30

MAGNUM SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2203A
15.65

Complete Genuine 
Kohler Magnum Engine

R&R Part # RKPX711563

2,028.50

http://www.rrproducts.com


881

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

11 9

5
8

7

2

2

4

4

3

12

1

1

10

6

4

1

10

2

6

8

9

7
3

5

11

12

13

6

2

4

2

8

51

7

3

9

12
11

10

13

6

7
8

9 4

5

3 1
11

10
2 13

12

Model M16QS Spec. 711563
Fits Toro Reelmaster 216

  Air Intake - Group 1    
 1 RKX229 X-22-9 Kohler Washer, I.T. #10 2 0.99
 2 RKX5057 X-50-57 Kohler Screw, Pan Hd. Mach. 2 0.78
 3 RKX5037 X-50-37 Kohler Screw, Pan Hd. Mach. 1 0.47
 4 RK5209626 52 096 26 Kohler Cover, Air Cleaner 1 94.70
 5 RK4508302 45 083 02 Kohler Element 1 9.90
 6 RK4508301 45 083 01 Kohler Precleaner, Element 1 5.15
 7 RK4704111 47 041 11 Kohler Gasket, Air Horn 1 14.55
 8  RKX2579 X-25-79 Kohler Washer, Plain 1 0.99
 9 RK5208204 52 082 04 Kohler Cover, Inner 1 9.20
 10 RK231032 231032 Kohler Seal 1 2.70
 11 RK4875403 48 754 03 Kohler Kit, Air Cleaner Elbow 1 24.50
 12 RK5208611 52 086 11 Kohler Screw, Self Tap 1/4-20 x 5/8 1 1.35
 13 RK2504106 25 041 06 Kohler Gasket, Air Cleaner Elbow 1 1.10
      
  Baffles & Shroud - Group 2    
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RK5208611 52 086 11 Kohler Screw, Hex. Wash. Hd. 6 1.35
     1/4-20x 5/8  
 3 RK4708608 47 086 08 Kohler Screw, Pozidriv T.H. 1 1.80
     1/4-20 x 5/8  
 4 RK4706306 47 063 06 Kohler Baffle, Side Air 1 15.70
 5 RK4706310 47 063 10 Kohler Baffle, Cylinder 1 9.50
 6 RK4702742 47 027 42 Kohler Housing, Blower 1 76.95
 7 RK4506308 45 063 08 Kohler Baffle, Head 1 14.25
 8 RK4706307 47 063 07 Kohler Baffle, Inner 1 12.70
 9 RK4712623 47 126 23 Kohler Bracket, Duct 1 3.65
 10 RK4775533 47 755 33 Kohler Kit, Air Duct 1 93.25
 11 RKX6764 X-67-64 Kohler Screw, Hex. Wash. Hd. 3 0.83
 12 RKX2520 X-25-20 Kohler Washer, Plain 1/4 1 0.99
 13 RKX1544 X-154-4 Kohler Screw, H.C. Sems 1 0.99
      
  Breather & Vent - Group 3    
 1 RK275144 275144 Kohler Gasket, Valve Cover 1 2.60
 2 RK4732602 47 326 02 Kohler Hose 1 16.95
 3 RKX7991 X-799-1 Kohler Palnut, 1/4-20 1 0.96
 4 RK231032 231032 Kohler Seal, Breather 1 2.70
 5 RK235047 235047 Kohler Reed, Breather 1 5.90
 6 RK235048 235048 Kohler Gasket, Breather Plate 1 2.30
 7 RK235117 235117 Kohler Baffle, Breather 1 2.40
 8 RK235118 235118 Kohler Filter, Breather 1 5.90
 9 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 10 RK235631 235631 Kohler Plate, Breather 1 12.70
 11 RK275839 275839 Kohler Cover, Valve 1 37.80
 12 RKX4263 X-426-3 Kohler Clamp, Hose 1/2" wide 1 2.80
 13 RKX4269 X-426-9 Kohler Clamp, Hose 5/16" wide 1 2.55
      
  Camshaft & Valves - Group 4 
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 4 RK235168 235168 Kohler Spring, Valve 2 5.90
 5 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 6 RKD235327 D-235327 Kohler Tappet 2 19.30
 7 RK235582 235582 Kohler Valve, Intake 1 52.45
 8 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 9 RK275066 275066 Kohler Spacer, Camshaft .005  A/R 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010  A/R 2.70
 10 RK4701011 47 010 11 Kohler Camshaft  Assy. 1 78.90
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
 12 RKX7023 X-702-3 Kohler Plug, Cup 1 0.72
      



882

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

Model M16QS Spec. 711563
Fits Toro Reelmaster 216

12

11

2
8

10

4

14

13
7

6

9

3
18

11
5

17
16

15

1

5

2

4

3

1

4

5

1 10

7

2

9

8

6

3

16

11
12

131514
18

17

19

  Carburetor - Group 5    
 1 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 2 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 3 RK4515501 45 155 01 Kohler Connector, Hose 1 3.35
 4 RK4585313 45 053 76 Kohler Carburetor Assy. 1 187.15
 5 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 6 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 7 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 8 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 9 RK235448 235448 Kohler Bowl 1 7.90
 10 RK200376 200376 Kohler Pin 1 2.05
 11 RK2575703 25 757 03 Kohler Kit, Float 1 9.25
 12 RK2504102 25 041 02 Kohler Gasket, Bowl Baffle 1 2.70
 13 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 14 RK275231 275231 Kohler Needle, Idle Fuel Adjusting 1 6.25
 15 RK200380 200380 Kohler Spring, Idle Fuel 1 2.70
 16 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 17 RKX39110 X-391-10 Kohler Connector, Hose 1 6.20
 18 RK4510301 45 103 01 Kohler Needle, Main Fuel Adj. 1 12.00
 19 RK2575702 25 757 02 Kohler Kit, Carburetor Repair 1 11.50
         
      
      
      
      
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug, Hex. Ctsk. 3/4 N.P.T.F 1 2.40
 2 RK4704109 47 041 09 Kohler Gasket, Bearing Plate 1 1.55
 3 RKX23011 X-230-11 Kohler Plug, Expansion 1 0.47
 4 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 5 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 6 RK235025 235025 Kohler Gasket, Camshaft Cover 1 3.50
 7 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 8 RK4742205 47 422 05 Kohler Gasket, Shim  A/R 1.45
 9 RK235125 235125-S Kohler Shaft, Governor Gear 1 28.20
 10 RK236559 236559 Kohler Shaft, Balance Gear Stub 2 11.60
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK4714611 47 146 11 Kohler Plate, Bearing 1 106.05
 13 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 14 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 15 RK4578233 45 782 23 Kohler Block, Cylinder Miniblock 1 926.15
 16 RK230265 230265 Kohler Insert, Valve 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
        
      
      
      
      
      
  Crankshaft - Group 8    
 1 RK4501486 45 014 86 Kohler Kit, Crankshaft 1 180.75
 2 RKX26934 X-269-34 Kohler Retainer 2 0.73
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
 6 RK237769 237769 Kohler Spacer 2 3.50
      
      

http://www.rrproducts.com


883

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

2

3

5

6

4

1

14
1

8

13

11

10

9

2

5 3
6
4

7

4

3

2

1

5

2
3

4

6

1

5

8

9
7

10

2

1

Model M16QS Spec. 711563
Fits Toro Reelmaster 216

  Cylinder Head - Group 9    
 1 RK4504117 45 041 17 Kohler Gasket, Cylinder Head 1 9.60
 2 RK4501509 45 015 09 Kohler Head, Cylinder 1 118.15
 3 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 9 2.70
 4 RK4708617 47 086 17 Kohler Screw, Hex. Socket Hd. 1 12.60
     3/8-16 x 1  
 5 RK270889 270889 Kohler Washer 10 2.70
 6 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
      
      
      
      
      
  Dipstick - Group 10    
 1 RK4702906 47 029 06 Kohler Tube, Oil Fill 1 39.10
 2 RK4703827  47 038 27 Kohler Dipstick 1 11.15
 3 RK237064 237064 Kohler Gasket 1 3.35
 4 RKX1312 X-131-2 Kohler Screw, R.H.   3 0.47
 5 RK4115301 41 153 01 Kohler O-Ring 1 1.80
      
      
      
      
  Electric Start - Group 11    
 1 RK4712629 47 126 29 Kohler Bracket, Solenoid 1 13.55
 2 RKX1592 X-159-2 Kohler Screw, H.C. Sems 3/8-16x1 2 1.30
 3 RK4512617 45 126 17 Kohler Brace, Tail 1 2.30
 4 RKX6762 X-67-62 Kohler Screw, Hex. Wash. Hd. 1 0.83
     1/4-20x3/4   
 5 RKX6783 X-67-83 Kohler Screw, Hex. Wash. Hd. 1 0.23
     1/4-20x3/8   
 6 RK2545003 25 450 03 Kohler Tag, Caution 1 0.42
 7 RK4109806 41 098 04 Kohler Starter Assy 1 148.50
 8 RK4108619 41 086 19 Kohler Bolt, Thru 1/4-20x5 1/16 2 9.75
 9 RK4175533 47 755 07 Kohler Kit, Drive 1 77.65
 10 RK4175533 41 755 33 Kohler Kit, Drive Parts 1 77.65
 11 RK4108105 41 227 03 Kohler Cap, Drive End 1 40.30
 13 RK5222703 41 227 04 Discontinued 1 
 14 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
      
      
      
  Exhaust - Group 12    
 1 RK4505404 45 054 04 Kohler Elbow, Exhaust 1 34.60
 2 RK4510001 45 100 01 Kohler Nut, Lock 1 5.90
      
      
  Flywheel - Group 13    
 1 RKX463 X-46-3 Kohler Key, Woodruff 3/16x1 1 0.93
 2 RK4702553 47 025 53 Kohler Flywheel 1 277.95
 3 RK5246815 52 468 15 Kohler Washer, Plain 13/32 I.D., 1 2.05
     1 3/8 O.D.  
 4 RK2508624 25 086 24 Kohler Screw, Hex. Mach. 1 1.25
     3/8-24x1 1/8  
 5 RK2515701 25 157 01 Kohler Fan 1 32.40
 6 RK2511204 25 112 04 Kohler Spacer 17/64 I.D., 3/8 O.D. 4 1.25
     15/64 lg.  
 7 RK2508621 25 086 21 Kohler Screw, Hex. Wash. Hd. 4 1.20
     1/4-20x5/8  
 8 RK2516203 25 162 03 Kohler Screen, Grass 1 9.75
 9 RK235954 235954 Kohler Shaft, Front Drive 1 148.30
 10 RKX1592 X-159-2 Kohler Screw, H.C. 1 1.30



884

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

1

2

3

4
5

7

8

6

69

1

2

54

6

311

137
9

8

10

16
12

35

27
28

1718 19
21

21

1514

26

3323

30

36 30
17

18 19

31

21

25

42

39

29

34
2541

37

38

4322
24

32

20

40

3323

Model M16QS Spec. 711563
Fits Toro Reelmaster 216

  Fuel Pump - Group 14    
 1 RKX1742 X-174-2 Kohler Screw, H.C. 1/4-20 x 3/4 2 0.47
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK2535301 25 353 01 Kohler Line, Fuel 5 1/2" Long 1 2.70
 4 RKX4269 X-426-9 Kohler Clamp, Hose 1 2.55
 5 RK4755904 47 559 04 Kohler Pump, Fuel Assy 1 40.45
 6 RK2508635 25 086 35 Kohler Screw 2 1.00
 7 RK2515301 25 153 01 Kohler Fitting & O'Ring  4 2.10
 8 RK2529401 25 294 01 Kohler Fitting & O'Ring - 900 1 0.17
 9 RKX2563 X-25-63 Kohler Washer, Plain 1/4 2 0.93
      
      
      
  Governor - Group 17    
 1 RK237022 237022 Kohler Washer, Thrust 1 2.40
 2 RKA235743 A-235743-S Kohler Kit, Governor Gear 1 22.10
 3 RKX40080 X-400-80 Kohler Spacer 1 0.83
 4 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 5 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
 6 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
 7 RK4709020 47 090 20 Kohler Lever, Governor 1 4.65
 8 RK4715807 47 158 07 Kohler Bushing, Natural Linkage 1 1.00
    Retaining  
 9 RKX7761 X-776-1 Kohler Screw, H.C. Sems 1 1.30
       
 10 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 11 RK4707910 47 079 10 Kohler Linkage, Governor 1 3.70
 12 RK235496 235496 Kohler Spring, Governor 1 4.75
 13 RK2515811 25 158 09 Kohler Bushing, Black Linkage Retaining 1 1.00
 14 RKX1321 X-132-1 Kohler Screw, H.C. Sems  1 0.99
 15 RKX2572 X-25-72 Kohler Washer, Plain 1/4 1 0.99
 16 RK235476 235476 Kohler Bushing, Governor Shaft 1 4.90
 17 RKX526 X-5-26 Kohler Screw, H.C. 1/4-20x1 1/2 1 0.99
 18 RKX201 X-20-1 Kohler Washer, Lock 1/4 1 0.99
 19 RKX2563 X-25-63 Kohler Washer, Plain 1/4 1 0.93
 20 RK2510020 X-81-1 Kohler Nut, Hex.   1 1.00
 21 RK275690 275690 Kohler Washer, Wave 1 2.10
 22 RK4709005 47 090 05 Kohler Lever, Choke Control 1 3.80
 23 RKX25102 X-25-102  Kohler Washer, Plain  1 0.97
 24 RK4711219 47 112 19 Kohler Spacer 23/64 O.D., 31/64 Lg. 1 4.65
 25 RKX191 X-19-1 Kohler Washer, Lock #10 1 0.99
 26 RK232556 232556 Kohler Screw 1 2.70
 27 RK4712613 47 126 13 Kohler Bracket, Choke 1 8.05
 28 RK1223701 12 237 01 Kohler Clamp 1 1.50
 29 RKX724 X-72-4 Kohler Nut, Hex. 8/32 1 0.83
 30 RK4875510 48 755 10  Kohler  Kit, Clamp 1 7.45
 31 RK4707901 47 079 01 Kohler Linkage, Choke 1 4.15
 32 RK4709009 47 090 09 Kohler Lever, Throttle 1 6.25
 33 RKX1023 X-102-3 Kohler Screw 1 1.05
 34 RKX155 X-15-5 Kohler Screw  1 0.99
 35 RK235086 235086 Kohler Bracket, Speed Control 1 2.30
 36 RK235085 235085 Kohler Spacer 1 3.65
 37 RK4712636 47 126 36 Kohler Bracket 1 9.50
 38 RKX6738 X-67-38 Kohler Screw 1 0.83
 39 RKX2595 X-25-95 Kohler Washer, Plain 1/4 1 0.99
 40 RKX3842 X-384-2 Kohler Spacer 1 4.60
 41 RK235778 235778 Kohler Clamp, Cable 1 3.45
 42 RK4707908 47 079 08 Kohler Linkage, Throttle 1 7.20
 43 RKX2582 X-25-82 Kohler Washer, Plain 3/8 1 0.47
      
      

http://www.rrproducts.com


885

Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

  Ignition - Group 18    
 1 RK4758403 47 584 03 Kohler Module, Ignition 1 50.75
 2 RKX6751 X-156-1 Kohler Screw, H.C. Sems 2 0.94
 3 RKX2579 X-25-79 Kohler Washer, Plain #10 2 0.99
 4 RK210281 210281 Kohler Clip, High Tension Lead 1 2.40
 5 RKX1326 X-132-6 Kohler Screw, R.H. 4 0.81
 6 RK235173 235173 Kohler Clip 1 3.65
 7 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 8 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 9 RK2575503 25 755 03 Kohler Rectifier-Regulator 1 56.95
 10 RKX1325 X-132-5 Kohler Screw, H.C. Sems   2 0.99
 11 RK236602 236602 Kohler Connector, Female 1 3.30
 12 RK4115503 41 155 03 Kohler Connector, Male 1 1.00
 13 RK237878 237878 Kohler Kit, Stator 1 76.10
 14 RK4751846 47 518 46 Kohler Lead, Violet, Rectifier- 1 3.50
 14 RK4751843 47 518 43 Kohler Lead, White, Module 1 19.15
      
      
       

      
      
  Oil Pan - Group 21    
 1 RK2513956 X-75-6 Kohler Plug, 3/4 1 1.45
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK4719910 47 199 10 Kohler Base, Oil Pan 1 134.25
      
      
      
  Piston & Rod - Group 22    
  OLD STYLE PISTON    
 1 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 1 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 2 RK4587401 45 874 01 Kohler Piston Assy, Standard 1 154.70
 2 RK4587402 45 874 02 Kohler Piston Assy, .003 1 164.90
 2 RK4587403 45 874 03 Kohler Piston Assy, .010 1 154.70
 2 RK4587404 45 874 04 Kohler Piston Assy, .020 1 120.35
 2 RK4587405 45 874 05 Kohler Piston Assy, .030 1 120.35
 3 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 3 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 3 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 3 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON    

 5 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 6 RK4587411 45 874 01 Kohler Piston Assy, Standard 1 175.00
 6 RK4587412 45 874 02 Kohler Piston Assy, .003 1 131.20
 6 RK4587413 45 874 03 Kohler Piston Assy, .010 1 168.90
 6 RK4587414 45 874 04 Kohler Piston Assy, .020 1 168.70
 6 RK4587415 45 874 05 Kohler Piston Assy, .030 1 131.20
 7 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 7 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 7 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 7 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10

3
2

4

12

7

6

8

10

11

4
1

2
3

9

13

14

1

5

2

3
1

4

OLD STYLE
PISTON

NEW STYLE
PISTON

4

5

7
6

Model M16QS Spec. 711563
Fits Toro Reelmaster 216



946

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

Genuine Kohler  Shortblock
Includes Gasket Kit with Seals

R&R Part # RK4852221
2,596.50

GASKET SET WITH SEALS
RK4875533

98.35

K SERIES TWIN CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKENS607
98.35

Complete Genuine 
Kohler Engine

R&R Part # RKPA36315
Discontinued

Model K582QS Spec. 36315
Fits Toro Turf Pro

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

947

  Air Intake - Group 1    
 1 RK2504106 2504106 Kohler Gasket 1 1.10
 2 RK277116 277116 Kohler Brace, Elbow 1 8.70
 3 RK4875402 48 754 02 Kohler Kit, Elbow 1 30.05
 4 RK4852901 48 529 01 Kohler Support, Air Cleaner 1 60.35
  RK4815504 48 155 04 Kohler Connector 1 4.65
      
      
      
      
  Baffles & Shroud - Group 2    
 1 RK243035 243035 Kohler Grommet 1 3.00
 2 RK277058 277058 Kohler Baffle, Blower Hsg. Support 1 27.80
 3 RK4802711 48 027 04 Kohler Housing, Blower 1 124.20
 4 RK4806308 48 063 08 Kohler Baffle, Side Cylinder #1 1 47.60
 5 RK4806309 48 063 09 Kohler Baffle, Side Cylinder #2 1 53.60
 6 RK4806310 48 063 10 Kohler Baffle, Bottom Cylinder #1 1 86.45
 7 RK4806312 48 063 12 Kohler Baffle, Top Cylinder #1 1 93.55
 8 RK4806302 48 063 02 Kohler Baffle, Top Cylinder #2 1 100.50
 9 RK4806313 48 063 13 Kohler Baffle, Bottom Cylinder #2 1 82.35
      
      
      
      
      
  Breather & Vent - Group 3    
 1 RKX4263 X-426-3 Kohler Clamp, Hose 1 2.80
 2 RK220368 220368 Kohler Stud, Valve Cover 1 3.00
 3 RK270034 270034 Kohler Gasket, Valve Cover 1 3.00
 4 RK270036 270036 Kohler Cover, Valve 1 11.15
 5 RK277392 277392 Kohler Hose, Breather 1 14.25
      
      
      
      
      
  Camshaft & Valves - Group 4 
 1 RKX431 X-43-1 Kohler Key, Woodruff 1 0.99
 2 RK4810004 48 100 04 Kohler Nut, Jam 1 5.00
 3 RK230011 230011 Kohler Retainer, Valve Spring Exh. 2 3.00
 4 RK5241301 52 413 01 Kohler Rotator, Exhaust Valve 2 11.45
 5 RK235008 235008 Kohler Valve, Intake 2 26.05
 6 RK235010 235010 Kohler Spring, Valve Intake 2 5.90
 7 RK235011 235011 Kohler Retainer, Valve Spring 4 2.05
 8 RK235168 235168 Kohler Spring, Exhaust Valve 2 5.90
 9 RK237672 237672 Kohler Valve, Exhaust 2 36.80
 10 RK4175510 41 755 10 Kohler Kit, Retainer 4 4.10
 11 RK4875534 48 755 34 Kohler Kit, Gear-Camshaft 1 36.85
 12 RKD277031 D-277031 Kohler Tappet 4 25.50
 13 RK4801201 48 012 01 Kohler Camshaft  Assy. 1 196.55
 14 RK4846804 48 468 04 Kohler Washer 1 3.45

      

3

1
2

3

4

5

1
2

3

4 9

6

7

8
5

4

1

2

3

3 14

5 67

8

9

10

1112

1

13

2
14

Model K582QS Spec. 36315
Fits Toro Turf Pro



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

948

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

1
2

3

4

1

2

3
4

5

3 11

9

4

7

15
14

12

6

5

8

16

7

10

1

2

18

13

17

2

1

4 12

10

16

11
5

3

9

13

14

15

17

6

78

Model K582QS Spec. 36315
Fits Toro Turf Pro

  Carburetor - Group 5    
 1 RKX35210 X-352-10 Kohler Stud 2 1.05
 2 RKX5552 X-555-2 Kohler Elbow 1 2.80
 3 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 4 RK4805306 48 053 06 Kohler Carburetor Assy. 1 236.90
 5 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 6 RK200376 200376 Kohler Pin, Float Hinge 1 2.05
 7 RK200380 200380 Kohler Spring, Idle Fuel 2 2.70
 8 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 9 RK2575703 25 757 03 Kohler Float 1 9.25
 10 RK2504102 25 041 02 Kohler Gasket, Bowl Baffle 1 2.70
 11 RK234945 234945 Kohler Screw, Idle Speed 1 2.40
 12 RK235448 235448 Kohler Bowl 1 7.90
 13 RK4875510 48 755 10 Kohler Kit, Clamp 1 7.45
 14 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 15 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 16 RK4810301 48 103 01 Kohler Needle, Main Fuel Adjusting 1 12.60
 17 RK277210 277210 Kohler Needle, Idle Fuel Adjusting 1 4.35
 18 RK2575702 2575702 Kohler Kit, Carburetor Repair 1 11.50
       
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug  2 2.40
 2 RKX26931 X-269-31 Kohler Ring, Retaining 1 13.80
 3 RKX343 X-343 Kohler Connector 2 3.35
 4 RKX5992 X-599-2 Kohler Pin 2 0.99
 5 RK160037 160037 Kohler Plug, Welch 1 2.35
 6 RK270956 270956 Kohler Screw, H.C. 4 2.60
 7 RK277062 277062 Kohler Bearing, Ball 1 97.80
 8 RK277065 277065 Kohler Seal, Rear Oil 1 11.85
 9 RK277087 277087 Kohler Gasket, Closure Plate 1 4.65
 10 RK4815803 48 158 02 Kohler Bushing 1 12.80
 11 RK277039 277039 Kohler Bushing 1 13.60
 12 RK4803006 48 030 03 Kohler Bearing 1 36.00
 13 RK4800913 48 009 13 Kohler Plate, Rear Closure 1 235.90
 14 RK4800506 48 005 06 Kohler Block, Cylinder Miniblock 1 1,216.35
 15 RK230265 230265 Kohler Insert, Exhaust Valve 1 30.00
 16 RK235007 235007-S Kohler Guide, Valve 2 10.05
 17 RK4835304 48 353 04 Kohler Line, Oil 1 12.60
      
      
      
  Crankshaft - Group 8    
 1 RKX4215 X-42-15 Kohler Key, Woodruff 1 1.15
 2 RKX26930 X-269-30 Kohler Ring, Retaining 1 3.05
 3 RKX26932 X-269-32 Kohler Ring, Retaining 1 1.70
 4 RK4804315 277009 Kohler Gear, Crankshaft 1 70.75
 5 RK4801419 48 014 19 Kohler Crankshaft Assy. 1 600.15
  RK4875521 48755-21 Kohler Spline, Insert Key 1 80.10
  RKX26944 X-269-44 Kohler Ring, Retaining 1 1.30
        
       
      
  Cylinder Head - Group 9    
 1 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 18 2.70
 2 RK270889 270889 Kohler Washer, Plain 3/8 18 2.70
 3 RK4801502 48 015 02 Kohler Head, Cylinder 2 130.80
 4 RK4804113 48 052 01 Kohler Gasket, Cylinder Head 2 5.45
      

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

949

1

2

3
2

1

3

51
3

2

4

5

9
6 4

3 8

7

2
1

2

4

8

10

9 7

6

5

13 14

11
12

3

1

Model K582QS Spec. 36315
Fits Toro Turf Pro

  Dipstick - Group 10    
 1 RK4827201 48 272 01 Kohler Dipstick 1 43.90
 2 RK4853801 48 538 01 Kohler Tube, Oil Fill 1 77.85
 3 RK272474 272474 Kohler Seal, Dipstick 1 4.65
      
      
      
      
      
  Electric Start - Group 11    
 1 RKX1541 X-154-1 Kohler Clip, Cable 3 0.99
 2 RK270154 270154 Kohler Screw, H.C. 2 3.65
 3 RK4809804 48 098 02 Kohler Starter Assy 1 180.90
 4 RK4875540 48 755 02 Kohler Kit, Drive 1 62.50
 5 RK4875541 47 755 13 Kohler Kit, Drive Parts 1 68.45
 6 RK4822703 48 227 03 Kohler Cap, Drive End 1 62.15
 7 RK277605 277605 Kohler Armature 1 275.90
 9 RK8275528 48 755 15 Kohler Kit, Brush 1 34.80
 10 RK4821101 48 211 01 Kohler Thru Bolt with Washer 2 13.00
 11 RK4812608 48 126 08 Kohler Bracket, Starter Support 1 5.35
 12 RKX6762 X-67-62 Kohler Screw 1 0.83
 13 RKX1546 X-154-6 Kohler Screw 1 0.99
 14 RKX2544 X-25-44 Kohler Washer 1 0.99
      
      
      
      
      
      
  Intakes & Exhaust Manifolds - Group 12  
 1 RK4807204 48 072 04 Kohler Stud 2 2.40
 2 RK4744502 47 445 02 Kohler Strap, Lifting 2 2.05
 3 RK277091 277091 Kohler Gasket 2 3.50
 4 RK4805202 48 052 02 Kohler Gasket, Intake 2 2.40
 5 RK4805404 48 054 04 Kohler Elbow, Exhaust Cylinder #1 1 123.90
 6 RK4805405 48 054 05 Kohler Elbow, Exhaust Cylinder #2 1 90.10
 7 RK4809601 48 096 01 Kohler Cover, Exhaust Elbow Cyl #1 1 33.80
 8 RK4809602 48 096 02   Kohler Cover, Exhaust Elbow Cyl #2 1 38.95
 9 RK4816407 48 164 07 Kohler Manifold, Intake 1 294.45
      
      
      
  Flywheel - Group 13    
 1 RK2510028 X-80-1 Kohler Nut, Hex. 1 2.00
 2 RKX453 X-45-3 Kohler Key, Woodruff 1 0.99
 3 RK277595 277595 Kohler Nut, Lock 1 3.00
 4 RK4802514 48 025 14 Kohler Flywheel 1 405.15
 5 RK4816201 48 162 01 Kohler Kit, Grass Screen 1 46.75
      
      
      
      
  Fuel Pump - Group 14    
 1 RKX1325 X-132-5 Kohler Screw, H.C. 2 0.99
 2 RK240282 240282 Kohler Cover, Pump Pad 1 3.35
 3 RK2504109 25 041 05 Kohler Gasket, Fuel Pump Pad 1 1.15
      



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

950

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

1

2

3

4

5

6

8

9

10

11

12

13

14

15

16

17

18

1

2
3

4

5

67

89
10

11

12

13

19

20

21

22

24

25

26

27 28
29 30

31

32

33

34 35

36

38
41

43
40

39
23

37
42

Model K582QS Spec. 36315
Fits Toro Turf Pro

  Governor - Group 17    
 1 RK2513960 X-75-23 Kohler Plug 1 1.00
 2 RK277078 277078 Kohler Gasket, Governor Housing 1 2.80
 3 RK271151 271151 Kohler Rod, Throttle 1 3.80
 4 RK4520803 45 208 03 Kohler Body, Ball Joint 1 6.40
 5 RKX4898 X-489-8 Kohler Rod, Breaker Push 1 2.15
 6 RK5204111 52 041 11 Kohler Gasket, Breaker Cover 1 1.00
 7 RK220074 220074 Kohler Diaphragm 1 3.00
 8 RK232535 232535 Kohler Cover, Breaker 1 6.40
 9 RK271547 271547 Kohler Spring, Governor 1 11.15
 10 RK275691 275691 Kohler Screw, Shoulder 1 5.90
 11 RK277073 277073 Kohler Gasket 1 2.30
 12 RK277080 277080 Kohler Lever, Throttle 1 12.60
 13 RKA277905 A-277905 Kohler Housing, Breather 1 24.70
 14 RK277341 277341 Kohler Washer, Tension 1 2.40
 15 RK4815003 48 150 03 Kohler Breaker 1 20.20
 16 RK4819401 48 194 01 Kohler Joint, Ball 1 4.10
 17 RK4875510 48 755 10 Kohler Kit, Clamp 1 7.45
 18 RK4831028 48 310 28 Kohler Governor Assy. 1 434.65
 19 RKX26915 X-269-15 Kohler Ring, Retaining 1 0.99
 20 RKX2932 X-293-2 Kohler Bearing, Needle 1 9.00
 21 RKX2933 X-293-3 Kohler Bearing, Needle 1 8.25
 22 RK4803002 48 030 02 Kohler Bearing, Needle 1 16.30
 23 RK237022 237022 Kohler Washer 1 2.40
 24 RK240202 240202 Kohler Bearing, Ball 1 34.30
 25 RK275055 275055 Kohler Seal, Oil 1 11.15
 26 RK277099 277099 Kohler Gasket, Governor Cover 1 2.70
 27 RK277100 277100 Kohler Bearing, Roller Thrust 1 8.85
 28 RK277101 277101 Kohler Race, Thrust Bearing 1 3.50
 29 RK277102 277102 Kohler Race, Thrust Bearing 1 5.10
 30 RK277104 277104 Kohler Ring, Retaining 1 2.05
 31 RK4804311 277561 Kohler Gear, Governor 1 21.90
 32 RK4808102 48 081 02 Kohler Housing 1 101.50
 33 RK4809605 48 096 05 Kohler Cover, Governor 1 92.95
 34 RK4875501 48 755 01 Kohler Kit, Sleeve 1 14.70
 35 RK4847102 48 471 02 Kohler Yoke, Governor 1 3.00
 36 RK4808703 48 087 03 Kohler Lever, Governor 1 59.35
 37 RK4842008 48 420 08 Kohler Shaft, Governor Assy. 1 308.35
 38 RKX2694 X-269-4 Kohler Ring, Retaining 1 0.99
 39 RK230080 230080 Kohler Pin, Flyweight 2 3.50
 40 RK277007 277007 Kohler Shaft, Governor 1 71.05
 41 RK277114 277114 Kohler Flyweights 2 6.60
 42 RK4808901 48 089 01 Kohler Spring 2 2.70
 43 RKX2808 X-280-8 Kohler Pin, Roll 1 0.99
      
      
      
  Ignition - Group 18    
 1 RK210281 210281 Kohler Clip, Cable 2 2.40
 2 RK230722 230722 Kohler Condensor 1 5.00
 3 RK235041S 235041-S Kohler Plug, Spark 2 4.55
 4 RK236602 236602 Kohler Connector 1 3.30
 5 RK4815502 48 155 02 Kohler Connector 1 4.35
 6 RK271694 271694 Kohler Plate, Coil Mounting 1 5.00
 7 RK277375 277375 Kohler Coil 1 140.85
 8 RK2575503 25 755 03 Kohler Kit, Rectifier, Regulator 1 56.95
 9 RK237878 237878 Kohler Kit, Stator 1 76.10
 10 RK4834803 48 348 08 Kohler Lead, Hi-Tension 1 15.30
 11 RK4834804 48 348 04 Kohler Lead, Hi-Tension 1 12.60
 12 RK4808801 48 088 01 Kohler Bracket, Coil 1 27.35
 13 RK2551808 25 518 08 Kohler Lead, 14 Ga. 11" 1 4.40
 14 RK2551813 25 518 13 Kohler Lead, 14 Ga. 9" 1 2.70

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

951
1

3

42

5

4
3

2

1

4

1

3

2

1

2

34

5

6

7

89

1

2

3

4

5
6

7

8

9

10
2

Model K582QS Spec. 36315
Fits Toro Turf Pro

  Oil Pan - Group 21    
 1 RK2513956 X-75-6 Kohler Plug, Pipe 1 1.45
 2 RKX7528 X-75-28 Kohler Plug, Pipe 1 1.00
 3 RK230125S 230125-S Kohler Pin, Dowel 2 8.80
 4 RK277014 277014 Kohler Gasket, Pan 1 4.75
 5 RK4875517 48 755 17 Kohler Pan, Oil 1 338.80
      
      
      
  Piston & Rod - Group 22    
 1 RK4806712 47 067 12 Kohler Rod, Connecting (Std.) 1 75.50
 1 RK4806713 47 067 13 Kohler Rod, Connecting (.010) 1 78.15
 2 RK4887406 47 874 11 Kohler Piston Assy, Standard 1 163.80
 2 RK4887407 47 874 12 Kohler Piston Assy, .003 1 163.80
 2 RK4887408 47 874 13 Kohler Piston Assy, .010 1 127.50
 2 RK4887409 47 874 14 Kohler Piston Assy, .020 1 127.50
 2 RK4887410 47 874 15 Kohler Piston Assy, .030 1 163.80
 3 RK4810805 48 108 05 Kohler Ring Set, Std. & .003 1 53.90
 3 RK4810806 48 108 06 Kohler Ring Set, .010 1 49.40
 3 RK4810807 48 108 07 Kohler Ring Set, .020 1 63.50
 3 RK4810808 48 108 08 Kohler Ring Set, .030 1 63.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
      
      
      
  Oil Pump - Group 25    
 1 RKX1016 X-101-6 Kohler Nut, Relief Valve 1 1.35
 2 RKX2123 X-212-3 Kohler Ball, Steel 1 0.99
 3 RKX6291 X-629-1 Kohler Palnut 1 0.99
 4 RK270085 270085 Kohler Clip, Oil Tube 1 12.60
 5 RK277201 277201 Kohler Tube, Oil Inlet 1 24.45
 6 RK277202 277202 Kohler Strainer, Oil 1 42.80
 7 RK277694 277694 Kohler Screw, Socket Set 1 9.15
 8 RK4839323 48 393 23 Kohler Pump, Oil 1 324.60
 9 RK4808903 48 089 03 Kohler Spring, Relief Valve 1 2.05
       
      
      
      
  Gear Cover - Group 26    
 1 RKX611 X-6-11 Kohler Screw, H.C. 4 0.99
 2 RKX622 X-6-22 Kohler Screw, H.C. 7 1.30
 3 RKX556 X-55-6 Kohler Screw, Allen 1 0.39
 4 RKX752 X-75-2 Kohler Plug 1 1.00
 5 RK5203208 52 032 08 Kohler Seal, Front Oil 1 13.60
 6 RK277020 277020 Kohler Gasket, Gear Cover 1 8.45
 7 RK277021 277021 Kohler Plate, Gear Cover 1 41.95
 8 RK277022 277022 Kohler Gasket, Gear Cover Plate 1 6.25
 9 RK277086 277086 Kohler Screw, H.C. 2 5.90
 10 RK277493 277493 Kohler Cover, Gear 1 226.40
      
      
      
  Oil Filter - Group 29    
 1 RK277233 277233 Kohler Filter, Oil 1 10.90
 2 RK4802902 48 029 02 Kohler Adapter, Oil Filter 1 45.55
 3 RK4804103 48 041 03 Kohler Gasket 1 2.70
 4 RK277234 277234 Kohler Nipple 1 8.45



982

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

GASKET SET WITH SEALS
RK4775508

49.55

Genuine Kohler  Miniblock
includes Gasket Set with Seals

R&R Part # RK4778299
996.10

Genuine Kohler  Shortblock
includes Gasket Set with Seals

R&R Part # RK7752261
1,293.20

K SERIES SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2379
15.65

Complete Genuine 
Kohler Engine

R&R Part # RKPX60434

1,815.95

Model K321S Spec. 60434
Fits Toro Sand Pro

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

983

      
      
  Air Intake - Group 1    
 1 RK4504107 45 041 07 Kohler Gasket, Air Horn 1 2.05
      
      
      
       
      
      
  Baffles & Shroud - Group 2    
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RKX1322 X-132-2 Kohler Screw, H.C. 1/4-20 x 3/4 5 0.99
 3 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 2 0.81
 4 RK235652 235652 Kohler Baffle, Side Air 1 6.60
 5 RK4702718 47 027 18 Kohler Housing, Blower 1 104.05
 6 RK237677 237677 Kohler Baffle, Head 1 15.30
 7 RK236676 236676 Kohler Baffle, Cylinder 1 8.05
      
      
      
      
      
      
      
  Breather & Vent - Group 3    
 1 RKX4263 X-426-3 Kohler Clamp, Hose 1 2.80
 2 RKX4269 X-426-9 Kohler Clamp, Hose 1 2.55
 3 RK231032 231032 Kohler Seal, Breather 1 2.70
 4 RK235047 235047 Kohler Reed, Breather 1 5.90
 5 RK235048 235048 Kohler Gasket, Breather Plate 1 2.30
 6 RK235117 235117 Kohler Baffle, Breather 1 2.40
 7 RK235118 235118 Kohler Filter, Breather 1 5.90
 8 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 9 RK235631 235631 Kohler Plate, Breather 1 12.70
 10 RK275839 275839 Kohler Cover, Valve 1 37.80
 11 RK275144 275144 Kohler Gasket 1 2.60
 12 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 13 RK4732602 47 326 02 Kohler Hose 1 16.95
      
      
      
      
      
  Camshaft & Valves - Group 4 
 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK235168 235168 Kohler Spring, Valve 2 5.90
 4 RK235193 235193 Use RK4738009  
 4 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 5 RKD235327 D-235327 Kohler Tappet 2 19.30
 6 RK235582 235582 Kohler Valve, Intake 1 52.45
 7 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 8 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 9 RK275066 275066 Kohler Spacer, Camshaft .005 (A.R.) 1 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010 (A.R.) 1 2.70
 10 RK4701009 47 010 09 Kohler Camshaft  Assy. 1 94.25
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50

1

5

10

9
4

8

6

7
2

3

1

3

2

11

1

3

6
7

8

10

11

9

4

5

1

2

12 13

1

2

3

4

6

7

5

Model K321S Spec. 60434
Fits Toro Sand Pro



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

984

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

      
      
      
      
  Carburetor - Group 5    
 1 RK275231 275231 Kohler Needle, Idle Fuel Adjusting 1 6.25
 2 RK2575703 25 757 03 Kohler Kit, Float 1 9.25
 3 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 4 RKA236919 A-236919 Kohler Bracket Assy., Choke  1 7.30
 5 RK235603 235603 Kohler Clip, Choke Cable 1 2.05
 6 RK271030 271030 Kohler Gasket, Carburetor 1 2.30
 7 RK4705361 47 053 61 Kohler Carburetor Assy. 1 214.10
 8 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 9 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 10 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 11 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 12 RK235448 235448 Kohler Bowl 1 7.90
 13 RK200376 200376 Kohler Pin 1 2.05
 14 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 15 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 16 RK4510301 45 103 01 Kohler Needle, Main Fuel Adjusting 1 12.00
 17 RK200380 200380 Kohler Spring, Idle Fuel Adjusting 1 2.70
 18 RK2575701 25 757 01 Kohler Kit, Carburetor Repair 1 11.50
 19 RK2515502 25 155 02 Kohler Connector, 900 Hose 1 0.47
 20 RK2504102 25 041 02 Kohler Gasket, Bowl Baffle 1 2.70
 21 RK237917 237917 Kohler Spring, Float 1 5.35
 22 RK235277 235277 Kohler Rod, Ball Joint 1 7.90
 23 RK4520803 45 208 03 Kohler Joint, Ball 1 6.40
      
      
      
      
      
      
      
      
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug, Hex. ctsk. 3/4 N.P.T.F. 1 2.40
 2 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 3 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 4 RKX23011 X-230-11 Kohler Plug 1 0.47
 5 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 6 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 7 RK235025 235025 Kohler Gasket, Cover 1 3.50
 8 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 9 RK235070 235070 Kohler Gasket (A.R.) 1 2.40
 10 RK235125 235125-S Kohler Shaft, Governor 1 28.20
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK235757 235757 Kohler Gasket 1 4.10
 13 RK236559 236559 Kohler Shaft 2 11.60
 14 RK4515602 45 156 02 Kohler Plate, Bearing 1 126.40
 15 RKB237836 B-237836 Use RK4778299  
 15 RK4778299 47 782 82 Kohler Block, Cylinder Miniblock 1 996.10
 16 RK230265 230265 Kohler Insert, intake 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
      
      
      
      
      

4

5

6 1

2

7

8

9

13

14

15

16

17

20

3

9

11

12

13

14

3

5

4

6

7

8

10

15

16

17

18

11

2

1

18

10
11

12

19

19 22

23

Model K321S Spec. 60434
Fits Toro Sand Pro

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

985

  Crankshaft - Group 8    
 1 RKX26934 X-269-34 Kohler Retainer 2 0.73
 2 RK4704201 47 042 01 Use RK4504303  
 2 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 3 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 4 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75
 5 RK4501405 45 014 05 Use RK4514236  
 5 RK4514217 45 142 17 Use RK4514236  
 5 RK4514236 45 142 36 Kohler Crankshaft  1 244.20
      
      
      
      
  Cylinder Head - Group 9    
 1 RK4744501 47 445 01 Use RK4744502  
 1 RK4744502 47 445 02 Kohler Strap, Lifting 1 2.05
 2 RK237658 237658 Use RK4704110  
 2 RK4704110 47 041 10 Use RK4704115  
 2 RK4704115 47 041 15 Kohler Gasket, Cylinder Head 1 9.35
 3 RK237670 237670 Kohler Head, Cylinder 1 113.25
 4 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2 8 2.70
 5 RK270721 270721 Kohler Screw, H.C. 3/8-16X1 3/4 1 3.65
 6 RK270889 270889 Kohler Washer, Plain 3/8 10 2.70
      
      
      
      
      
  Dipstick - Group 10    
 1 RKX1312 X-131-2 Kohler Screw, 10-24 x 1/2 R.H. 3 0.47
 2 RK237064 237064 Kohler Gasket 1 3.35
 3 RK4703816 47 038 16 Kohler Dipstick 1 59.90
 4 RK4718004 47 180 04 Kohler Tube, Oil Fill 1 45.55
      
      
      
      
      
      
      
      
  Electric Start - Group 11    
 1 RKX221 X-22-1 Kohler Washer 3/8 2 0.99
 2 RK234948 234948 Kohler Screw, H.C. 3/8-16 x 1 11/32 2 3.00
 3 RK4509809 45 098 09 Kohler Starter Assy 1 139.85
 4 RK4575515 47 755 07 Kohler Kit, Drive 1 79.25
 5 RK4575515 45 755 15 Kohler Kit, Drive Parts 1 79.25
 6 RK4508105 4508105 Kohler Cap, Drive End 1 40.30
 8 RK4508105 48 227 04 Kohler Cap, Commutator End 1 40.30
 9 RK237649 237649 Kohler Thru Bolt with Washer 2 9.50
 10 RK4875515 48 755 15 Use RK5275515  
 10 RK8275528 52 755 15 Kohler Kit, Brush 1 34.80
  RK5235701 52 357 01 Kohler Lubricant, Starter 1 4.15
      
      
      
      
      

1

5

2

4

3

4
5

6

89

10

12

3

1

2

3

4
6

6
5

1

2

4

3

Model K321S Spec. 60434
Fits Toro Sand Pro



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

986

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Exhaust - Group 12    
 1 RK235899 235899 Use RK4107219  
 1 RK4107219 47 072 19 Kohler Stud 2 3.10
 2 RK235122 235122 Kohler Gasket, Exhaust Flange 2 2.70
      
      
      
  Flywheel - Group 13    
 1 RK4702528 47 025 28 Kohler Flywheel 1 282.05
 2 RK4775515 47 755 15 Kohler Kit, Grass Screen 1 23.65
 3 RK4708608 47 086 08 Kohler Screw, pozidriv T.H. 1/4-20x5/8 4 1.80
 Before Serial No. 15139547 Use: 
 4 RKX28617 X-286-17 Kohler Key, Square  1 0.73
 5 RKX25104 X-25-104 Kohler Washer, Plain 5/8  1 0.91
 6 RKX11914 X-119-14 Use RK2510002  
 6 RK2510002 25 100 02 Kohler Nut, Lock 5/8-18   1 1.25
 After Serial No. 15139546 Use:
 7 RKX463 X-46-3 Kohler Key, Woodruff 1 0.93
 8 RK5246815 52 468 15 Kohler Washer, Plain 1 2.05
 9 RK2508624 25 086 24 Kohler Screw, Hex. Mach. 1 1.25
     3/8-24 x 1 1/8  
       
      
    Fuel Pump - Group 14    
 1 RKX1742 X-174-2 Kohler Screw, F.H.M. 1/4-20 x 3/4 2 0.47
 2 RK4704104 47 041 04 Use RK2504109  
 2 RK2504109 25 041 05 Kohler Gasket, Fuel Pump 1 1.15
 3 RKX4269 X-426-9 Kohler Clamp, Hose 1 2.55
 4 RKX8101 X-810-1 Use RK2535301  
 4 RK2535301 25 343 01 Kohler Line, Fuel 1 2.70
 5 RK4755904 47 559 04 Kohler Fuel Pump w/Gasket 1 40.45
 6 RKX2563 X-25-63 Kohler Washer, Plain 2 0.93
 7 RK2515502 25 155 02 Kohler Connector, 900 Hose 1 0.47
      
      
      
  Governor - Group 17    
 1 RK2546801 25 468 01 Kohler Washer 1 1.00
 2 RKX40080 X-400-80 Kohler Spacer 1 0.83
 3 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 4 RK235278 235278 Kohler Retainer, Rod 1 2.05
 5 RK235476 235476 Kohler Bushing 1 4.90
 6 RK235496 235496 Kohler Spring, Governor 1 4.75
 7 RK237022 237022 Kohler Washer, Thrust 1 2.40
 8 RKA236294 A-236294-S Kohler Kit, Governor Gear  1 20.30
     (Incl. thrust washer)  
 9 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
      (Incl. spacer)  
 10 RKA237653 A-237653 Kohler Lever, Governor Assy. 1 22.30
 11 RKX7761 X-776-1 Kohler Screw, sems 1/4-20 x 1 1/4 1 1.30
 12 RKX7991 X-799-1 Kohler Palnut1/4-20 1 0.96
 13 RKA236895 A-236895 Kohler Bracket, Speed Control 1 14.95
 14 RKX2563 X-25-63 Kohler Washer, Plain 1/4 1 0.93
 15 RKX25102 X-25-102 Kohler Washer, Plain 1/4 1 0.97
 16 RK4108620 X-51-8 Kohler Screw, R.H.M. 8-32 x 1/4 1 1.00
 17 RKX1329 X-132-9 Kohler Screw, H.C. Sems 1/4-20x1 1/4 1 0.99
 18 RK4875510 47 755 10 Kohler Kit, Clamp 1 7.45
 19 RK235084 235084 Kohler Bracket, Adjusting Screw 1 3.65
 20 RK235085 235085 Kohler Spacer 1 3.65
 21 RK235086 235086 Kohler Bracket  1 2.30
 22 RK275690 275690 Kohler Washer, Tension 1 2.10
      

2

4

5

6

9
3

1

12

10
11

19
16 14

15
22

21

17

18

20
13

8

7

1

2

4

1

3

2

5
6

7
9

8

1

3

2

4

6

7

5

Model K321S Spec. 60434
Fits Toro Sand Pro

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

987

  Ignition - Group 18    
 1 RK237878 237878 Kohler Kit, Stator (15 amp.) 1 76.10
 2 RKX7781 X-778-1 Use RKX6751  
 2 RKX6751 X-675-1 Kohler Screw, R.H. 10-24 x 3/4 4 0.94
 3 RKX7281 X-728-1 Kohler Clip 1 0.93
 4 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 5 RK275303 275303 Kohler Clip 1 2.05
 6 RK4741104 47 411 04 Kohler Rod, Breaker 1 8.20
 7 RK4715003 47 150 03 Kohler Breaker Assembly 1 10.10
 8 RK4775703 47 757 03 Kohler Tune Up Kit 1 22.40
 9 RK4775705 47 757 05  Kohler Ignition Kit 1 17.15
 10 RKX1311 X-131-1 Kohler Screw, F.H.M. 10-24 x 3/8 4 0.47
 11 RK5204111 52 041 11 Kohler Gasket, Cover 1 1.00
 12 RK232535 232535 Kohler Cover, Breaker 1 6.40
 13 RK230722 230722 Kohler Condenser 1 5.00
 14 RK231281 231281 Kohler Coil 1 29.95
 15 RKX1322 X-132-2 Kohler Screw, H.C. Sems 1/4-20x3/4 2 0.99
 16 RK4815502 48 155 02 Kohler Connector 1 4.35
 17 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 18 RK238057 238057 Kohler Kit, High Tension Lead 1 20.70
 19 RKX1324 X-132-4 Kohler Screw, H.C. Sems 1/4-20x1 2 0.99
 20 RK236602 236602 Kohler Connector 1 3.30
 21 RK4140305 41 403 05 Use RK2575503  
 21 RK2575503 25 755 03 Kohler Rectifier-Regulator 1 56.95
 22 RK220297 220297 Kohler Grommet 1 2.05
       
   
  Oil Pan - Group 21    
 1 RKX3054 X-305-4 Kohler Plug,  1 7.60
     Magnetic Drain Hex. Hd. 3/8  
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
  Piston & Rod - Group 22    
  OLD STYLE PISTON    
 1 RK4706709 47 067 09 Kohler Rod, Connecting (Std.) 1 45.10
 1 RK4706710 47 067 10 Kohler Rod, Connecting (.010) 1 45.10
 2 RK4787411 47 874 11 Kohler Piston Assy, Standard 1 131.90
 2 RK4787412 47 874 12 Kohler Piston Assy, .003 1 111.55
 2 RK4787413 47 874 13 Kohler Piston Assy, .010 1 131.90
 2 RK4787414 47 874 14 Kohler Piston Assy, .020 1 131.90
 2 RK4787415 47 874 15 Kohler Piston Assy, .030 1 131.90
 3 RK4810805 48 108 05 Kohler Ring Set, Std. & .003 1 53.90
 3 RK4810806 48 108 06 Kohler Ring Set, .010 1 49.40
 3 RK4810807 48 108 07 Kohler Ring Set, .020 1 63.50
 3 RK4810808 48 108 08 Kohler Ring Set, .030 1 63.50
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON DESIGN
 5 RK4506724 45 067 24 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 25 Kohler Rod, Connecting - .010 1 83.55
 6 RK4787421 47 874 21 Kohler Piston Assy, Standard 1 166.65
 6 RK4787422 47 874 22 Kohler Piston Assy, .003 1 124.95
 6 RK4787423 47 874 23 Kohler Piston Assy, .010 1 160.65
 6 RK4787424 47 874 24 Kohler Piston Assy, .020 1 160.65
 6 RK4787425 47 874 25 Kohler Piston Assy, .030 1 124.95
 7 RK4710805 47 108 05 Kohler Ring Set, Std. & .003 1 59.30
 7 RK4710806 47 108 06 Kohler Ring Set, .010 1 56.55
 7 RK4710807 47 108 07 Kohler Ring Set, .020 1 56.55
 7 RK4710808 47 108 08 Kohler Ring Set, .030 1 56.55
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  Order parts according to design used on engine

1

3

4

2

18

8 9

6

21
20

10
5

16

2

17

13

7

12

4

3

1

22

14
11

19

15

4

3

2

1

OLD STYLE
PISTON

7

3

6

5

NEW STYLE
PISTON

Model K321S Spec. 60434
Fits Toro Sand Pro



996

All original equipment manufacturers names and part numbers are used for identification purposes only, and we 
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

GASKET SET WITH SEALS
RK4575512

37.30

Genuine Kohler  Miniblock
Includes Gasket Set with Seals

R&R Part # RK4578223
1,064.15

Genuine Kohler  Shortblock
Includes Gasket Set with Seals

R&R Part # RK4552257
1,175.70

MAGNUM SINGLE CYLINDER 
ENGINE SERVICE MANUAL

R&R PART #RKTP2203A
15.65

Complete Genuine 
Kohler Magnum Engine

R&R Part # RKPA711559
Discountinued

Use Shortblock or Miniblock

Model M16S Spec. 711559
Fits Toro Greens Aerator

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

997

  Air Intake - Group 1    
 1 RKX6765 X-67-65 Kohler Screw, H.C.  3 0.99
 2 RKX2767 X-276-7 Kohler Nut, Wing 1 0.39
 3 RK4709420 47 094 20 Kohler Base, Air Cleaner 1 27.35
 4 RK4709612 47 096 12 Kohler Cover, Air Cleaner 1 50.00
 5 RK4508302 45 083 02 Kohler Element 1 9.90
 6 RK4508301 45 083 01 Kohler Precleaner, Element 1 5.15
 7 RK4504107 45 041 07 Kohler Gasket, Air Horn 1 2.05
 8  RK4110004 41 100 04 Kohler Nut, Jam 1 1.25
 9 RK5208204 52 082 04 Kohler Cover, Inner 1 9.20
 10 RK231032 231032 Kohler Seal 1 2.70
  RK4111302 41 113 02 Kohler Decal, Air Cleaner 1 3.00
      
  Baffles & Shroud - Group 2    
 1 RKX2553 X-25-53 Kohler Washer 1 0.81
 2 RK5208611 52 086 11 Kohler Screw, Hex. Wash. Hd. 6 1.35
    1/4-20x 5/8  
 3 RK4708608 47 086 08 Kohler Screw, Pozidriv T.H. 1 1.80
     1/4-20 x 5/8  
 4 RK4706312 47 063 12 Kohler Baffle, Side Air 1 30.90
 5 RK4706310 47 063 10 Kohler Baffle, Cylinder 1 9.50
 6 RK4702742 47 027 42 Kohler Housing, Blower 1 76.95
 7 RK4506308 45 063 08 Kohler Baffle, Head 1 14.25
 8 RK4706307 47 063 07 Kohler Baffle, Inner 1 12.70
      
      
      
      
      
      
  Breather & Vent - Group 3    
 1 RK275144 275144 Kohler Gasket 1 2.60
 2 RK4732603 47 326 03 Kohler Hose 1 3.10
 3 RKX7991 X-799-1 Kohler Palnut, 1/4-20 1 0.96
 4 RK231032 231032 Kohler Seal, Breather 1 2.70
 5 RK235047 235047 Kohler Reed, Breather 1 5.90
 6 RK235048 235048 Kohler Gasket, Valve Cover 1 2.30
 7 RK270146 270146 Kohler Baffle, Breather 1 3.00
 8 RK4705001 47 050 01 Kohler Filter, Breather 1 3.65
 9 RK275220 275220 Kohler Stud, Valve Cover 1 3.65
 10 RK235631 235631 Kohler Plate, Breather 1 12.70
 11 RK4709601 47 096 01 Kohler Cover, Valve 1 7.60
      
      
      
  Camshaft & Valves - Group 4    

 1 RK5241301 52 413 01 Kohler Rotator 2 11.45
 2 RK235011 235011 Kohler Retainer, Spring Upper 2 2.05
 3 RK4175510 41 755 10 Kohler Kit, Retainer 2 4.10
 4 RK235168 235168 Kohler Spring, Valve 2 5.90
 5 RK4738009 47 380 09 Kohler Pin, Camshaft 1 8.60
 6 RKD235327 D-235327 Kohler Tappet 2 19.30
 7 RK235582 235582 Kohler Valve, Intake 1 52.45
 8 RK237672 237672 Kohler Valve, Exhaust 1 36.80
 9 RK275066 275066 Kohler Spacer, Camshaft .005  A/R 2.70
 9 RK275067 275067 Kohler Spacer, Camshaft .010  A/R 2.70
 10 RK4701011 47 010 11 Kohler Camshaft  Assy. 1 78.90
 11 RK4708901 47 089 01 Kohler Spring, Actuating 1 3.50
 12 RKX7023 X-702-3 Kohler Plug, Cup 1 0.72
      
      

Model M16S Spec. 711559
Fits Toro Greens Aerator

8

2

4

7 1
3

2

6

5

5

6

10
1

3
7

98

4
2

6

3

4

5

1

7
8

9

10

11

2

11 9

5
8

7

2

2

4

4

6

3

12

1

1

10



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

998

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Carburetor - Group 5    
 1 RKX7701 X-770-1 Kohler Screw, Sltd. Hd. 2 1.30
 2 RK4704901 47 049 01 Kohler Gasket, Carburetor 1 7.45
 3 RK2515502 25 155 02 Kohler Connector, 900 Hose 1 0.47
 4 RK4505370 45 053 70 Use RK4585312  
 4 RK4585312 45 853 12 Kohler Carburetor Assy. 1 191.45
 5 RK232555 232555 Kohler Spring, Idle Speed 1 3.50
 6 RK232556 232556 Kohler Screw, Idle Speed Adjusting 1 2.70
 7 RK200372 200372 Kohler Gasket, Bowl Retainer Screw 1 1.00
 8 RK4710006 47 100 06 Kohler Screw, Bowl Retainer 1 3.00
 9 RK235448 235448 Kohler Bowl 1 7.90
 10 RK200376 200376 Kohler Pin 1 2.05
 11 RK2575703 25 757 03 Kohler Kit, Float 1 9.25
 12 RK2504102 25 041 02 Kohler Gasket, Bowl Baffle 1 2.70
 13 RK200383 200383 Kohler Spring, Main Fuel 1 2.10
 14 RK275231 275231 Kohler Needle, Idle Fuel Adjusting 1 6.25
 15 RK200380 200380 Kohler Spring, Idle Fuel 1 2.70
 16 RK200375 200375 Kohler Gasket, Bowl 1 2.60
 17 RK4704105 47 041 05 Kohler Gasket, Air Cleaner 1 2.10
 18 RK4510301 45 103 01 Kohler Needle, Main Fuel Adj. 1 12.00
 19 RK2575702 25 757 02 Kohler Kit, Carburetor Repair 1 11.50
      
      
      
      
      
      
      
      
  Crankcase - Group 7    
 1 RK4713901 47 139 01 Kohler Plug, Hex. Ctsk. 3/4 N.P.T.F 1 2.40
 2 RK4704109 47 041 09 Kohler Gasket, Bearing Plate 1 1.55
 3 RKX23011 X-230-11 Kohler Plug, Expansion 1 0.47
 4 RK4703206 47 032 06 Kohler Seal, Front Oil 1 7.15
 5 RK4703207 47 032 07 Kohler Seal, Rear Oil 1 7.15
 6 RK235025 235025 Kohler Gasket, Camshaft Cover 1 3.50
 7 RK235026 235026 Kohler Cover, Camshaft 1 8.05
 8 RK4742205 47 422 05 Kohler Gasket, Shim  A/R 1.45
 9 RK235125 235125-S Kohler Shaft, Governor Gear 1 28.20
 10 RK236559 236559 Kohler Shaft, Balance Gear Stub 2 11.60
 11 RK235376 235376 Kohler Bearing, Ball 2 75.45
 12 RK4714611 47 146 11 Kohler Plate, Bearing 1 106.05
 13 RKX1326 X-132-6 Kohler Screw, H.C. 1/4-20 x 1/2 4 0.81
 14 RKX1592 X-159-2 Kohler Screw, H.C. 3/8-16 x 1 4 1.30
 15 RK4578223 45 782 23 Kohler Block, Cylinder Miniblock 1 1,064.15
 16 RK230265 230265 Kohler Insert, Valve 2 30.00
 17 RK235007 235007-S Kohler Guide, Valve 2 10.05
 18 RK234866 234866 Kohler Bearing 1 2.70
        
      
      
      
      
      
  Crankshaft - Group 8    
 1 RK4514221 45 142 21 Kohler Kit, Crankshaft 1 253.65
 2 RKX26934 X-269-34 Kohler Retainer 2 0.73
 3 RK4504303 45 043 03 Kohler Gear Assy. 2 65.45
 4 RK4703001 47 030 01 Kohler Bearing, Needle 2 8.75
 5 RK4775501 47 755 01 Kohler Kit, Spacer 1 22.75

Model M16S Spec. 711559
Fits Toro Greens Aerator

12

11

2
8

10

4

14

13
7

6

9

3
18

115

16
17

15

1

5

2

4

3

1

4

5

1 10

7

2

9

8

6

3

16

11
12

131514
18

17

19 20

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

999

  Cylinder Head - Group 9    
 1 RK4504116 45 041 16 Use RK4504117  
 1 RK4504117 45 041 17 Kohler Gasket, Cylinder Head  9.60
 2 RK4501509 45 015 09 Kohler Head, Cylinder  118.15
 3 RK270158 270158 Kohler Screw, H.C. 3/8-16 x 1 1/2  2.70
 4 RK4708617 47 086 17 Kohler Screw, Hex. Socket Hd.  12.60
     3/8-16 x 1  
 5 RK270889 270889 Kohler Washer  2.70
 6 RK4744502 47 445 02 Kohler Strap, Lifting  2.05
      
      
  Dipstick - Group 10    
 1 RK4702906 47 029 06 Kohler Tube, Oil Fill  39.10
 2 RK4703827  47 038 27 Kohler Dipstick  11.15
 3 RK237064 237064 Kohler Gasket  3.35
 4 RKX1312 X-131-2 Kohler Screw, R.H.    0.47
 5 RK4115301 41 153 01 Kohler O-Ring  1.80
      

      
      
  Electric Start - Group 11    
 1 RK4712629 47 126 29 Kohler Bracket, Solenoid  13.55
 2 RKX1592 X-159-2 Kohler Screw, H.C. Sems 3/8-16x1  1.30
 3 RK4512617 45 126 17 Kohler Brace, Tail  2.30
 4 RKX6762 X-67-62 Kohler Screw, Hex. Wash. Hd.  0.83
     1/4-20x3/4  
 5 RKX6783 X-67-83 Kohler Screw, Hex. Wash. Hd.  0.23
     1/4-20x3/8  
 6 RK2545003 25 450 03 Kohler Tag, Caution  0.42
 7 RK4109806 41 098 06 Kohler Starter Assy  148.50
 8 RK4108619 41 086 19 Kohler Bolt, Thru 1/4-20x5 1/16  9.75
 9 RK4175533 47 755 07 Kohler Kit, Drive  77.65
 10 RK4175533  41 755 33 Kohler Kit, Drive Parts  77.65
 11 RK4108105 41 081 05 Kohler Cap, Drive End  40.30
 14 RK8275528 52 755 15 Kohler Kit, Brush  34.80
      
      
      
      
  Exhaust - Group 12    
 1 RK4107219 41 072 19 Kohler Stud  3.10
 2 RK4504115 45 041 15 Kohler Gasket, exhaust  4.30
      
      
  Flywheel - Group 13    
 1 RKX463 X-46-3 Kohler Key, Woodruff 3/16x1  0.93
 2 RK4702553 47 025 53 Kohler Flywheel  277.95
 3 RK5246815 52 468 15 Kohler Washer, Plain 13/32 I.D.,  2.05
     1 3/8 O.D.  
 4 RK2508624 25 086 24 Kohler Screw, Hex. Mach.  1.25
     3/8-24x1 1/8  
 5 RK2515701 25 157 01 Kohler Fan  32.40
 6 RK2511204 25 112 04 Kohler Spacer 17/64 I.D., 3/8 O.D.  1.25
     15/64 lg.  
 7 RK2508621 25 086 21 Kohler Screw, Hex. Wash. Hd.  1.20
     1/4-20x5/8  
 8 RK2516203 25 162 03 Kohler Screen, Grass  9.75
 9 RK5214419 5214419 Kohler Shaft, Front Drive  135.30
 10 RKX1592 X-159-2 Kohler Screw, H.C.  1.30
      

Model M16S Spec. 711559
Fits Toro Greens Aerator

2

3

5

6

4

1

14
1

8

13

11

10

9

2

5 3
6
4

7

4

3

2

1

5

2
3

4

6

1

5

8

9

2

1

7

10



Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

1000

Order Factory Direct 800-528-3446 
Fax 520-294-1045   •   www.rrproducts.com

  Fuel Pump - Group 14    
 1 RKX1742 X-174-2 Kohler Screw, H.C. 1/4-20 x 3/4 2 0.47
 2 RK2504109 25 041 09 Kohler Gasket, Fuel Pump 1 1.15
 3 RK2535301 25 353 01 Kohler Line, Fuel 5 1/2" Long 1 2.70
 4 RKX4269 X-426-9 Kohler Clamp, Hose 1 2.55
 5 RK4755904 47 559 04 Kohler Pump, Fuel Assy 1 40.45
 6 RK2508635 25 086 35 Kohler Screw 2 1.00
 7 RK2529402 25 294 02 Kohler Fitting & O'Ring - 450 1 0.20
 8 RK2529401 25 294 01 Kohler Fitting & O'Ring - 900 1 0.17
 9 RKX2563 X-25-63 Kohler Washer, Plain 1/4 2 0.93
  Fuel Tank - Group 15    
 1 RK4706507 47 065 07 Kohler Tank, Fuel 1 114.75
 2 RK2517303 25 173 03 Kohler Cap, Fuel Tank 1 13.95
 3 RK2510004 25 100 04 Kohler Nut 2 1.35
 4 RKX2578 X-25-78 Kohler Washer, Plain 2 0.41
 5 RK4776001 47 760 01 Kohler Mount, Isolation 4 6.40
 6 RKX7991 X-799-1 Kohler Palnut 2 0.96
 7 RK4712630 47 126 30 Kohler Bracket, Lower Tank 1 29.75
 8 RKX2528 X-25-28 Kohler Washer, Plain 2 0.99
 9 RKX1593 X-159-3 Kohler Screw, H.C. 2 1.30
 10 RK4115803 41 158 03 Kohler Bushing, Fuel Tank 1 2.70
 11 RK2546203 25 462 03 Kohler Valve, Fuel Shut-Off 1 11.25
 12 RK4735302 47 353 02 Kohler Line, Fuel 19" 1 4.65
 13 RK2523701 25 237 01 Kohler Clamp 2 1.00
      
  Governor - Group 17    
 1 RK237022 237022 Kohler Washer, Thrust 1 2.40
 2 RKA235743 A-235743-S Kohler Kit, Governor Gear 1 22.10
 3 RKX40080 X-400-80 Kohler Spacer 1 0.83
 4 RK231355 231355 Kohler Pin, Governor Stop 1 3.35
 5 RK2546801 25 468 01 Kohler Washer, Plain 1/4 1 1.00
 6 RKA235256 A-235256-S Kohler Kit, Governor Cross Shaft 1 9.15
 7 RK4709020 47 090 20 Kohler Lever, Governor 1 4.65
 8 RK4715807 47 158 07 Kohler Bushing, Natural Linkage Retaining 1 1.00
 9 RKX7761 X-776-1 Kohler Screw, H.C. Sems, 1/4-20x1 1/4 1 1.30
 10 RKX7991 X-799-1 Kohler Palnut 1/4-20 1 0.96
 11 RK4707910 47 079 10 Kohler Linkage, Governor 1 3.70
 12 RK235496 235496 Kohler Spring, Governor 1 4.75
 13 RK2515811 25 158 09 Kohler Bushing, Black Linkage Retaining 1 1.00
 14 RKX1321 X-132-1 Kohler Screw, H.C. Sems  1 0.99
 15 RKX2572 X-25-72 Kohler Washer, Plain 1/4 1 0.99
 16 RK235476 235476 Kohler Bushing, Governor Shaft 1 4.90
 17 RKX526 X-5-26 Kohler Screw, H.C. 1/4-20x1 1/2 1 0.99
 18 RKX201 X-20-1 Kohler Washer, Lock 1/4 1 0.99
 19 RKX2563 X-25-63 Kohler Washer, Plain 1/4 1 0.93
 20 RK2510019 X-76-2 Kohler Nut, Hex. 1/4-20 1 1.00
 21 RK275690 275690 Kohler Washer, Wave 1 2.10
 22 RK4709006 47 090 06 Kohler Lever, Choke Control 1 12.60
 23 RKX25102 X-25-102  Kohler Washer, Plain  1 0.97
 24 RK4711202 47 112 02 Kohler Spacer 23/64 O.D., 13/16 Lg. 1 5.90
 25 RKX191 X-19-1 Kohler Washer, Lock #10 1 0.99
 26 RK232556 232556 Kohler Screw 1 2.70
 27 RK4712609 47 126 09 Kohler Bracket, Choke 1 7.60
 28 RK4723702 47 237 02 Kohler Clamp 1 3.35
 29 RKX724 X-72-4 Kohler Nut, Hex. 8/32 1 0.83
 30 RK4875510 48 755 10  Kohler  Kit, Clamp 1 7.45
 31 RK4707901 47 079 01 Kohler Linkage, Choke 1 4.15
 32 RKX2558 X-25-58 Kohler Washer 1 0.99
 33 RKX1023 X-102-3 Kohler Screw 1 1.05
 34 RKX1329 X-132-9 Kohler Screw, H.C. Sems 1 0.99
 35 RK236249 236249 Kohler Bracket, Speed Control 1 3.35
 36 RK235085 235085 Kohler Spacer 1 3.65
 37 RK235084 235084 Kohler Bracket 1 3.65
 38 RKX6751 X-67-61 Kohler Screw 1 0.94
 39 RK2546804 25 468 04 Kohler Washer 1 1.10
      
      

Model M16S Spec. 711559
Fits Toro Greens Aerator

9

8

10
12

7
13

3
6

4

211

16

15

30

25

26

28
20

271514

23

21

2124

22
17 18

19

31

37

38

36

34

35

33
32

39

1

2
3
4

5

6
7

8
9

10
1112

13

5

1

2

3

4
5

7

8

6

69

http://www.rrproducts.com


Item R&R KOHLER  Qty.  Discounted
No. Part No. Part No. Description  Req.  Price Each

1001

  Ignition - Group 18    
 1 RK4758401 47 584 01 Use RK4758402  
 1 RK4758403 47 584 03 Kohler Module, Ignition 1 50.75
 2 RKX6751 X-156-1 Kohler Screw, H.C. Sems 2 0.94
    10-24x7/8  
 3 RKX2579 X-25-79 Kohler Washer, Plain #10 2 0.99
 4 RK210281 210281 Kohler Clip, High Tension Lead 1 2.40
 5 RKX1326 X-132-6 Kohler Screw, R.H. 4 0.81
 6 RK235173 235173 Kohler Clip 1 3.65
 7 RKX6759 X-67-59 Kohler Screw, Sheet Metal 1 0.39
 8 RK235041S 235041-S Kohler Plug, Spark 1 4.55
 9 RK2575503 25 755 03 Kohler Rectifier-Regulator 1 56.95
 10 RKX1325 X-132-5 Kohler Screw, H.C. Sems   2 0.99
 11 RK236602 236602 Kohler Connector, Female 1 3.30
 12 RK4115503 41 155 03 Kohler Connector, Male 1 1.00
 13 RK237878 237878 Kohler Kit, Stator 1 76.10
 14 RK4751836 47 518 36 Kohler Lead, Violet, Rectifier- 1 5.00
    regulator to connector  
    (23" - 14 Gauge Uninsulated  
    push-on tab terminals)  
 14 RK4751843 47 518 43 Kohler Lead, White w/diode 1 19.15
    (Service replacement lead  
    for lead w/diodes)  
    (5"-18-Gauge insulated- push-  
     on tab - insulink terminals)   
      
  Oil Pan - Group 21    
 1 RKX3054 X-305-4 Kohler Plug, Pipe 3/8 1 7.60
 2 RKX1593 X-159-3 Kohler Screw, H.C. 3/8-16 x 1 1/4 4 1.30
 3 RK235057 235057 Kohler Gasket, Pan 1 3.50
 4 RK235147 235147 Kohler Base, Oil Pan 1 126.40
      
      
  Piston & Rod - Group 22    
  OLD PISTON STYLE    
 1 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 1 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 2 RK4587411 45 874 01 Kohler Piston Assy, Standard 1 175.00
 2 RK4587412 45 874 02 Kohler Piston Assy, .003 1 131.20
 2 RK4587413 45 874 03 Kohler Piston Assy, .010 1 168.90
 2 RK4587414 45 874 04 Kohler Piston Assy, .020 1 168.70
 2 RK4587415 45 874 05 Kohler Piston Assy, .030 1 131.20
 3 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 3 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 3 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 3 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10
  NEW STYLE MAHLE PISTON    

 5 RK4506724 45 067 22 Kohler Rod, Connecting - Standard 1 59.85
 5 RK4506725 45 067 23 Kohler Rod, Connecting - .010 1 83.55
 6 RK4587411 45 874 01 Kohler Piston Assy, Standard 1 175.00
 6 RK4587412 45 874 02 Kohler Piston Assy, .003 1 131.20
 6 RK4587413 45 874 03 Kohler Piston Assy, .010 1 168.90
 6 RK4587414 45 874 04 Kohler Piston Assy, .020 1 168.70
 6 RK4587415 45 874 05 Kohler Piston Assy, .030 1 131.20
 7 RK4510810 45 108 06 Kohler Ring Set, Std. & .003 1 59.25
 7 RK4510811 45 108 07 Kohler Ring Set, .010 1 73.05
 7 RK4510812 45 108 08 Kohler Ring Set, .020 1 56.90
 7 RK4510813 45 108 09 Kohler Ring Set, .030 1 56.90
 4 RK4701801 47 018 01 Kohler Retainer, Pin 2 2.10

Model M16S Spec. 711559
Fits Toro Greens Aerator

3
2

4

12

5

7

6

8

10

11

4
1

2
3

9

13

14

1

2

3
1

4

OLD STYLE
PISTON

NEW STYLE
PISTON

4

5

7
6


